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Topic and puzzle numbers Answer ‘7 plusg’
theory
page
WHOLE NUMEBERS
1 Ascending numbers Intruder window 2
& Flace value Snoopy — dog a
& Addition (R digit nos) They couldn’ keep their trunks up 3
£ Addition Ewan Me, Migs A. Lot 4
§ Addition (weight, capaocity, distance) They don't give marks - just bruiges B
& Subtraction (nos < 1000) URABUTLIY 6
7 Subtraction (1o a line) Just sew-sew, Mine is all write, &)
It’s looking up, It's looking better
& Addition and subtraction Gorilla upside-down 8
£ Subtraction (momney, weight and Platypus 9
distance) Echidna
10 Number line pogitions The cheetah is the fastest animal in the 12
world. It can run at speeds up to 110 kph.
The Japanese spider crab is the largest of all
crabs with g span of 3 m from claw tip to claw
tip. The Portuguese Man-of-war, This jelly fish
has trailing stings that can be up to 50 m long.
11 Multiplication (2 digit nos) He burnt his ear 14
12 Multiplication (by powers of 10) Palm trees . 14
18 Multiplication (multiples of 10) Scrambled eggs, Season's greetings 14
14 Multiplication (3 digit nos) Overtime for policemen 18
185 Multiplication (money, weight and Noise i7
distance)
18 Number plane (1% Quad) Truck _ 18
i7 Divigion (by &, 3, 4 or B) They spend years trying to finish a sentence! 20
18 Division (by powers of 10) The instructions said ‘Tear along the dotted 21
line’
18 Division (by multiples of 10) Pyramid at sunset, A pig climbing a lamp post 21
B0 Division (by nos < 10) A ship arriving just in time to save a, 21
drowning witch
&1 Divigion (by nos > 10) R.U. Sure, Terry Dacktill 24
&2 Divigion {practical) He'd been practising all night 26
2% BODMAS Polar bears live in the Arctic and penguins 27
live only in the Antarctic
&4 Mixed operations (practical) Robinson Crusce. He had all his work done 27
by Friday
HUMBER PATTERINS
88 PEven and odd numbers Dean R. Bell, Ann T. Lope, Walter Wall 38
88 Factors (H.C.F) Fowl language! a7
&% Prime factors About fifty dollars a day 37
&8 Multiples (L.C.M.) It et a new lap record 38
#2 Index form (multiplying and dividing) Somecne who suffers from clothestrophobia 40
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page
KEGATIVE NUMBERS
80 Ascending order Ehinoceros, Horse 48
#1 Additicn Stranger, Proud Chief, Princess a7
& Number plane Kiwi — bird 48
TIME
33 Reading clocks (digital) Toot and come in (TUTANKHAMUN) 5%
4 Converting units Pull yourself together, How long has this been B2
going on? Since I was a pup
38 Mixed operations The man wears a suit, the dog just panis 54
FRACTIONS AWD PERCENTAGE
B8 Fractions of a whole A witeh hiding in a box 63
3% Fractions of quantities Someone with the gift of the grab 85
38 REqual fractions He should attend the sick and leave 67
the well alone
&9 Bimplifying fractions Herman Melville. He was once captured by 88
cannibals
40 Adding fractions (mixed numbers and Ring for a tow truck T4
different denominators)
41 Bubtracting fractions (mixed numbers But he slipped on. a banana skin and came fifth 78
and different denominators)
4% Multiplying fractions They e still 80
43 Dividing fractions Briefcase 83
44 Mixed operations with fractions She didn't want to wake the sleeping pills 83
48 Fractions to percentages EDAM ' a7
48 Percentage comparisons He got tired of the hole business 58
47 Percentage of guantities When it's being toad a0
FLOW CHARTS
48 Unscrambling instructions A lost penguin o
DECIMALS .
4% Place value A ping-pong ball bouncing backwards 104
80 Decimals t0 fractions South America, Australia, Africa 106
81 Addition He broke his ankle and fell in the sink 107
82 Subtraction Roll a centipede onto its back 108
83 Multiplication (by powers of 10) It's a load of rubbish 110
B4 WMultiplication (by multiples of 10) He was de-lighted 111
88 Multiplication Hide the shovel 112
B8 Division (by powers of 10) Hot, because it's easy to cateh cold 113

8% Division (by multiples of 10) Wot scrambled egds again 113
88 Division (by small whole nos) Young warrior, Peaceful, Protector, A rose li4
or lity
8% Division Because it comes after U 118
80 Rounding off MT 117
81 Fractions to decimals I can't pay attention i1v
88 Decimals to percentages Someans said, ‘Drinks are on the house’ 118
88 Percentages to decimnals Because you can't pull it leg 118
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Topic and puzzle numbers Angwar “F plus’
theory
pags
GRAPHS
&4 Column graphs Their mother was In the pen doing a long 123
sentencs
&% Picture graphs He got it stuck in the church doors 127
8@ Circle graphs Bir Pent 128
I. Rhoda Camel
&% Travel graph They are both in the middle of water 138
GROMETRY AWD MEASURERMENT
88 Measuring lengths One is hard to get up, the other is hard to 138
get down.
88 Adding lengths They are all dead 140
F¢ Measuring angles To feed his nightmares 144
71 Drawing angles Dove, A twin, Fierce, Lover of horses 149
F& Types of angles A house 150
?8 Perimetsers (triangles and The national game of Ireland that is a 187
quadrilaterals) mixture of rughy, hockey and lacrosse
F4 Angles in triangles and quadrilaterals One is helr to the throne and the other is 172
thrown into the air
78 Bearings Because her class was so bright 174
78 Area of rectangles They ware eagy, but I had trouble with the 182
answers
¥ Ares of triangles They can both be fired 186
T8 Bolids — faces, edges, vertices Dr. Jekyll and Mr Hyde, Treasure Island, 188
Kidnapped
79 Volume — counting cubes A mountain with hiecups 191
ALGRBEA
80 Like terms — addition and subtraction What's his other eys called? 198
81 Bimplifying expressions Adam. He was first in the human race 198
83 Substitution 0.K. I'll have filsh and chips pleass 198
8% Multiplying and dividing expressions He is a tiger. One of the many animals wlich 201
with. powers appear in Rudyard Kipling’s ‘Jungle Book'.
84 Expanding brackets Bables can't dress themaselves 202
88 Jolving equations — one step Matchbox 208
JALCULATORS
88 Adding decimals In caves, for this is another name for caving, k07
coming from the old English name ‘Spelunk’
meaning cave
87 Mixed operations It was nice gnawing you 213
8% Percentage of quantities Monah Lotk Claude Bottorn, Henrlstta Man 214
88 Mixed operations Your brains could fall out 218
SETE
8¢ IDqual sets Chronometer 212
21 Complement Pass a scream test 221
8% Venn diagrarns How about a date 222
8% Union and intersection A narrow sparrow 223

A soggie doggie
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HNUMBER SEILLS
84 Addition of quantities They never have that sinking feeling 2
288 Bubtraction (whole nos) Koala 5]
28 Multiplication (whole nos) She watches me like s hawk ]
8% Division (whole nos) Seven months old 3
@8 Addition and subtraction of fractions Spaghetti served by & neat waiter 8
88 Multiplication and division of fractions I'm not sure but I know it was a cutting 8
i remark
100 Addition and subtraction of decimal If you’re not better in a day or two give me a 8
quantities ring.
101 Multiplication and division of decimals Hang on sir, I'll call the branch manager 9
10® Decimals to fractions No, stick it on the envelope 9
108 Rounding off Some day my prints will come 16
GRAPHS
104 Line graphs A bartendsr 23
108 Conversion graphs That’s the way the cookie crumbles 26
108 Travel graphs Mouldie Locks 37
10% Histogram from a frequency table A vicious circle 43
HEGATIVE NUMBERS
108 Number line positions You can tune a piano but you can't tuna fish 43
109 Addition The sign said ‘Place litter here’ 50
110 Subtraction Desk lamp 51
11i Number plane pogitions Major Blink, Mustapha Nutherlook, 54
Hisssstory, His ape b ¢'s
112 NWumber plane picture Chip-munk _ 58
113 Multiplication He sat in front of the fire and melted 59
114 Division Captain Cook 81
118 BODMAS Father cat, rnother cat and two kittens 6l
ALGHRERA,
1ig Simplifying like terms A pair of nickers 87
117 Expanding brackets The clown snorkeling 68
118 Expanding brackets involving negatives Because they lost all their matches 71
118 Mulitplcation in index form Come and see the rain dear 74
180 Division in index form He wanted to get to the other tids 76
181 Zero Index Law A chicken Barber queusi 79
188 Power raised to a power Horge stuck in a stable door ac
183 Expanding brackets with powers Police are looking into it a5
184 Substitution A kettls 86
188 Multiplication and diviaion of algsbraic A tired kangaroo 90
fractions
128 Addition and subtraction of algebraic It stole the show o4
fractions : _
i8% Solving equations (one step) Sandy claws =l
188 Solving equations (two step) He mads a trunk call and reversed the charge 99
188 Solving eguakions (> two steps) A dead elephant 101

180 Bolving equations (repeated) pronumeral

A squawchestral
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Topic and puzrzle numbers Answer ‘@ plus’
theory
page
ALGEBRA (cont)
1381 CGraphing equations They didn’t want to work on wickends! 107
183 S3olving Inequations The downfall of Turkey, the loss of Greece and 111
the destruction of China
GEOMETRY
18% Measuring angles Two birds fghting over a worm 114
184 Vertically opposite and corresponding Pants with a rip in them 120
angles
138 Alternate and allied angles You'll just have to be a little patient 123
1836 Constructing special angles Howard I. Knos, Betty Wont, 1. Klipitoff 131
13% Types of triangles Rubbish bin 135
138 Exterior angle of a triangle No, they only have transistors 138
189 Angles in quadrilaterals A pserson who isn't mad 140
140 Dividing in a given ratio It was using fowl language 145
141 Scale drawing — lengths A Maybe 148
142 Enlargement A handle 181
143 Bearings Because they don't know how to kndd 152
PERCENTAGE
144 Per cent to decimal To get awey from the nuts on the ground 1828
348 Decimal to per cent T can’t see him right now 1865
148 Percentages of quantities Fish 188
14% TFinding whole quantities She didn't marry the best man 170
148 Profit and loss Because they are so diffloult to iron 172
RIGHY ANGLED TRIANGLES
148 Pythagoras' rule (finding hypotenuse In a frightful mess 188
lengths)
180 Perimeters of triangles It doesn't eat 191
MEASTRIMBITT
181 Changing length units He wanted {0 grow mashed potatoes 1av
188 Adding lengths in different units 0ld mother Hubbard, Jack ‘W' Jili, 188
- Little Jack Horner
18% Multiples of weights On a giant's fingers 201
184 Mixed operations with time Because there were 20 many knights then 204
188 Time differences To steal from the writings of another 207
188 Temperature differences Tissue box 208
18¥ Speed Don’t give a house warming party today 213
188 Perimeters of figures Which way did you come in? 219
189 Areas of rectangles Because they had just had a march of 31 days B8R
180 Areas of triangles, parallelograms snd The Straits of Gibraltar are fourteen km Ra8
trapeziums across
181 Area of circles It was General Electric 228
182 Surface areas of selids It’'s good for toasting R34
163 Changing area umnits From chasing parked cars 236
184 Volume of cuboids The second highest mountain peak in Mexico 240
i88 Changing volums units This 1s the last straw 246
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ADVARCED ALGEBRA
188 Changing the subject of a forrmuia Porcupine hiding benind a beach ball at 240
sunset
1€% Sclving simultaneous equations A worm. going downstairs 283
(substitution method)
188 Solving simultaneous equations One was found not guilty and the rest got a84
(elimination method) three months
PROBABILITY
189 Probability of events He couldn't make a ewe turn, 267
170 Expected outcomes A banana skin on the footpath 269
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The puzzle worksheets of Sum Fun have been carefully designed to give
students, in their middle school years, practice at specific mathematical skills
and at the same time add to their enjoyment of learning. Much effort has gone
into making the puzzles as meaningful as possible so that students
(i) can relate the use of mathematics to society in everyday life, technology,
employment and other subjects studied;
(ii) gain practice in problem-solving and following written instructions.

The puzzles have been prepared to supplement the material presented in the
textbooks 7-plus and 8-plus by Schnabl, Schnabl and Wagstaff. The puzzles may
be reproduced for use by students in the clasgroom.

To assist the teacher in selecting the appropriate puzzle for the class (or student),
an elaborate CONTENTS section has been devised. Puzzles have been grouped into
topics as they oceur in 7-plus and 8-plus, and the following information is given
with each;

(a) the skill or technique involved;

(b) the difficulty of the puzzle (easy®), hard (), and the clock symbol (B to indicate
those that take a long time to complets;

(¢) the puzzle answer;

(d) the page number from either ¥ plus or 8 plus where the theory for the puzzle
was explained.

The CONTENTS section also uses an asterisk 3 to indicate there are fourteen puzzles

which have ‘double codes’. These have been designed to stop students guessing the

answers after having answered only a few questions. Typically, the answer to one of

these puzzles tells the student to go to the next letter in the alphabet for the

remaining letters. For example,

FNNC would become GOOD

after moving forward one letter in the alphabet.

Each puzzle also has an indicator of its difficuliy on the puzzle page. The expression
on the face of the peanut-man character incorporating the puzzle nirmber
indicates the degree of difficulty of the questions.

e

I e
EASY AVERAGE
(65 puzzles) (93 puzzles) (12 puzzles)

Those puzzles that will take a long time to complete will hgve the clock symbol at
the top of the page.

TAKES TIME
(14 pugzles)

The directions on each puzzle have been made as simple and as short as possible
t0 help students get started as quickly as possible. Teachers will still need to know
what is required for each puzzle as some students may need the task explained.

Most puzzles have ample space provided for any caleulations required and students

will not need to work in their note books very oftern.
Many of the puzzles result in pictures which when coloured and displayed can

formm an interesting feafure wall in any ¢iassrooIn.

HAVE SUM FUN! — Don Wagstaff
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answer code.

Place the numbers in each group below in ascending order. The fourth number in
gach order will be the value of the letter with each group. This gives the puzzle

27 31 19 48

R4 &9 8 11 3
18 B8R 7B 83 42 47 &9
27 59 45 43
7 B3 68 21 9 5 3
48 34 4 2 1

87 T3 95 83
7?7 862 9l

83 Wb 93 64
21 7 80

10 7T 34
15 287 8

106 82 17 118
34 96

3 110

44 83 11¥ 65 Bl

4 K7 18 6 19
33 24

19 81 2% 83

7 4 15 19

54 22 25 a&? 18 31
4 15 19 5l B2 48 7
83 26 75 65 59 18

© Longman Cheshice 1989 Permissicn is granted for this page to be photocopied for nen-commercial classroom use.




? & 10 000
- o 500
[ STATE THE VALUE oF 60000
| EACH OF THE ARROWED S #90
| DIGITS. ToIM THE o 70000 200
| ANSWERS N THE ORDER 6 oo 90 .. e
THEY APPEAR, . \ 20 80 7000
. .0 5 w1000 {‘(
; JOIW 2000 Be g 60 99 000 5400
231 o ) 800
¥ © ° =100 &
700 80 -
54 800 o4 .
¥ * 400 9000
7634 ®  e50000
¥
970 la 3000 10 30000
"f &
2011 4e B30 v ¥ +8000
- @ Y5
85 593 80000 000
STOP | 20 000
JOIN
av
¥
9? 032 JOIN CONTINGE |
5139 274 851 18 264 '
7 7
éé 640 2545 230 406
¥ ¥
;33 4 B89 253 7250
11 ¥
' 3807 825
92 083 SO ]
STOP ¥ Lo
18 240 SOIR
JOIN :
vao| 12 654 26*514
1 1
882 427 639 2?8
1 ]
47 7?7 506 S?O
¥ k7
4713 160 315 51 255
—[STOP |- !
OP - é .
JOIN 7
24 %15 5% ara 857 302
i ¥
36 208 ' 83 020
STOP 5;?‘?‘1 ¥
Y6 284
‘VER;E’ LARGE DOT AT |- 186 :)2,7 | STOD
7896 4203 LARGE DOTS AT |
' : 2316
COLOUR 1V REGIONS THAT 327 511 AND
HMWE A STAR S INSIDE —{ CONTINUE } B4n

© Longran Cheshire 1989 Parmission is granted for this page fo be photocopied for non-commercial classroom use.
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Answer the @ questions. The letter beside each question and its answer gives

the puzzle code.

<6

5+8+7+2

B3 +4+ 9

+ 37

69
+ 18

36

25

+ 18
The sum of The total of
47 and 33 3,8and 1B

15 The sum of
22 8, 5,12, %,
8 6,32, 11
33
+ 14

80 | 91| 77 | 8B

350

28 61 02

25 87 26

@© Longmarn Cheshire 1889 Permission is granted for this page to be photocopied for non-cormumercial classtoom use.
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/ho wrote

these books?

wd 5

63
287
+ 545

/’

54 259

37 507

T+ 8= + 128

50 504

= 263

68 + 419

+19

33
154
817

+ 92

23
234
545

+ B6

587
68

24
+ 579

870
128
+ 249

128
78
R96

+ 307

318
473
102
+ 258

254
2817
238
+ 2686

© Longman Cheshire 1889 Permission is granted for this page to be photocopied for non-commercial ctassroom use.
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_IThe teachers are ro
\at our school!l

Add up the quantities in each rectangle below. The total
and the letter in each gives the puzzle code.

221 '
3 gssl | 0\ )} @ —eee-

818 mL | B83 km 179 kg 758 mL | 174 kg

283 mL 179 kg | 746xm | 858 mL | 298 kg

599 km|8186 mL 222 kg[983 mL|589 km|179 kg|{599 km

@© Longman Chashire 1982 Permission is granted for this page to be photocopied for non-commercial classroom Lise.




letters

The difference between
975 and 241

How can you tell |
she is pretty in just eig

Elien

ANSWER THE QUESTIONS

TG DISCOVER
THE PUZZLE (ODE
869 437
— BR3 — 205
583 2306
— B& — 1872

571 o007 5318
— 286 — 208 — 4869
1050 300 800 — 3358
— 907 — 186 =
4801 548 3007
— 373 minus 174 — 2058
384 8058 6666
less 176 — 8787 — BYYY
RR22 The difference betweean 4096
- 1444 six hundred and fifty, — 3828

and two hundred and
ninety-three

143 | 889 | 734 | 948

372 | R85 | 528 | 2346

337

BG2 | 608 | B8R4

265 222 201

447 7Te

471

218 114

© Longman Cheshire 1989 Permisséan is granted for this page to be photocopied for non-commercial classroom use.
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Draw a line between sach question
v = and its answer. The letter and
number on each line give the code.

20-B5—-3-7= @

52 — 10 — (20 — B) =

35 -8B —-3—-7—4 =

100 ~65 -8~ 3 =

10 — (30 — 24) =

(81 — 11) — 49 — 1 =

(@@
- @
()
J—
®
.
)&

25 -3-4-5-6-=

70 — R0 — 30 — 10 =

490 -7 - 12 - B — 4 =

32 —9-8-(10—-1)=

(16 —2) — (80 — 18) — B =

41 — (B0 — 26) — 20 =

¥5 -6 73— 8=

B3 — (30 — 158) — 8 =

40-28—-4-7T—8=

958 — 18 — 10 — 85 =

BB -7 -4 -8~ 3 =

28 — (17 — 5) — & =

p—
()
=
(~)
®)
-
@
(=)

+T3 311411411518 | 9 |16]2

3T11m 14|15] 8| §]16]18|5 |4 |45

© Longman Cheshire 1989 Parmissicn is granted for this page io be photocopied for non-commercial classroom use.
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lystery object!
ANSWER ALL THE QUESTIONS IN THE 3

REGIONS BELOW. SHADE (N ALL REGIONS ’

WITH ODD NUMBER ANSWERS. LETTERS

HBYE THE VALVE OF THE ANSWER i

N TS REGION,

i

i

i

453 235 133 308 363 363 3387

68 89 388 308 356 783 336 235 841 605

© Longman Cheshire 1989 Permission Is granted for this page to be photocopied for non-commercial classroom use.



Answer the questions below. Find the
answers in the boxes at the bottom of the
page and colour those boxes. The remaining
letters will spell out the names.

$738 less $549 =9l Kg 1275 m less 894 m

‘

580 kg take away How much bigger How much lighter
165 kg than $87 is $423% is 7285 kg than
o83 kg?

The difference The difference between
between 52 m and $150 and $342

420 m

‘

$254 below $618 375 m below 708 m 975 m minus 45828 m

202 m under ) The difference
716 m between. 254 kg
and 816 kg

184 kg | $192 175 kg 368 m

354 m | 415 kg | 554 kg | 483 m 424 kg

427 m |3B0kg| 381 m | $409 |562 m | $628 | 115 m |568 kg

© Longman Cheshire 1988 Permission is granted for this page to be photocopied for non-commercial classroom use,



Interesting facts

To decode the messages, replace each number with the letter at that position
on this number line.

ESWHBXMDROTANIGVKPGYQLUFZJ

i

O 1 2 3 4 5 6 '7 8 9 101112131415161’71819202122238435

| i L
11 1R 7 10 0 12 18 13 21 9 6 ¢ 10 8 0 1

] ) \ i i ) 1 1®

17 0 8 B3 9 22 8 THE
SPIDER

| I | 1
i 0w 11 12 ¢ 28 10 3 8 O O 6 O 10 &8 -0 1

] [} ;]
11 2 10 13 17
1 L J | ! i 1| i 1 1 i | 1 ]
13 1 k8 0 21 21 19 235 13 1 3 3 11 1
] | i I | | ] | 1 i I | i
11 18 21 18 18 14 1 10 113 18 14 1
| L I 1 | 1 ! i ) i | L]
11 10 18 11 12 4 0 &2 17 10 B8
1 ), J L L i | L L i l | | L | | &

2 18 2 10 1 6 0 10 8 0O 1 21 9 12 14

© Longman Chashire 1982 Parmission is granted for this page to be photocopied for non-commercial classroom use.




MMAANAAL
I you hear about S A et
the man listening to g2

. f::..;: M
maich® R
g2
?@.. —
Answer the questions to discover the puzzle code. p
X
53
32 X 72 80
® 41 x B4
53
x 91
89 Vil
_ XR&7 - %83
i —— e |t
x 87
05 34
X 48 X 79
9%
X 15 P
66 e 29
x 99 g7 ® 838
* 60
082 | 3240|4560 11312 | 20806 | BRR0 | 6381|3816 2405 | R407 | 6584 | 4833 | 1485

© Longman Cheshite 1969 Permission is granted for this page o be photocopied for non-commarcial classroom use,




at plant fingers an:

—— thumbs grow on?

Ansgwer the questions below and find the dot nexi to each answer. Join the dots in
the order the answers occur in each block of questions.
1800
58 SDO 45§)O ® & = 28 000 @ 218 Q00
10 000 40 000 10
-]
es] iy
1206 o0 2 R0Do 310 880
90 180
® 100 5 2o 5300 . 5300 450 39500
80 w00  ° 00 B0 4 lhe BTO e e 2170
1700 4000 g1 000 7800
2200
o by 30 60 3680
8000 T a0 ® e300 8%0 RCe
B 3800 200
8800 & ® I?OOO D & @ eQOO $:I.OO'()
R70 140 ) 400
Y x 10 = 10 x 27 = 12 x 10 =
38 X 100 = 100 x 31 = T3 X 100 =
80 X 10 = 10 X 450 =
10 x 40 =
4 x 1000 = 1000 x B3 =
2 X 100 =
10x Q="
20 X 100 = 67 x 10 =
15 X 10 = 1000 x 91 = 98 X 10 =
10 x 10 =
8 > 1000 = 8 X 100 =
3 x 10 = 10 X 100 = 74 X 100 =
17 x 100 = 10 x 8= B X 10 =
8 x 10 = 88 x 10 =
14 X 10 =
700 X 10 = 100 X ¥8 =
100 x 88 =
17 X 10 =
63 % 100 =
33 X 100 =
35 x 10 = 53 X 10 =
1000 x 18 =
18 x 100 =
82 X 1000 = 3l X 10 =
40 X 1000 =
18 X 10 = 1 x10=
10 x 4 =
B3 x 100 = 10 X 45 =

© Longmann Cheshire 1989 Permissicn is granted for this page to be photocopied for non-commercial classroom use.




Answer the questions below to discover the puzzle code.

4000 | 24 030 | 4050 4200 6300 320

2040 | 4690 | 5000 | 46890 | ?520 | 75RO | 4000

/18 x 20 N

34 X 300 \
x 100

{
AorOin B!

gSUMMER HELLO

WENTE“R ALOHA i |-4000 | 2600 | 400 | 4000 |11 00010200

7BR0|4080}(4620|4690|1710]202 00010 20017820 |4000

101 x 2000

© Longman Cheshire 1989 Permission is granted for this page to be photocopied for non-commercial classroom use.




itrate?
for
S
Calculate the products below. Exchange the answer for the letier beside each
guestion to find the puzzle answer.
134 514 926 540
% 205 X 183 X 327 X 610
323 @ 518 600 808
X 876 1 X 987 X 128 X 715
T 318 108
x 565 X 987 X 907
77 400 439 005 63 223 97 856 326 400 | 511 2686 81 906
63 222 _7 470 77 400 97 956 649 220 ?7 400 302 802
511 266 295 713 63 222 81 906 63 222 . 218 348

© Longman Cheshire 1989 Permission is granted for this page to be phatocopied for non-commaercial classroom use,
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answer to the puzzle.

Solve the problems and cross out the rectangles with the answers in the puzzle
solution at the bottom of the page. The letters remaining will spell out the

How much will 15 oranges cost if
they are 18 cents each?

What will the total weight of 28

-marbles be if they each weigh 83 g7

How long will 80 rulers be if they
are placed end to end (each ruler
is 38 cm long)?

Pencils cost 15 cents each. How
much will 37 pencils cost?

57 sugar cubes weigh 12 g each.
What is their total weight?

. .

Chairs are 46 cm wide. If 58 such
chairs are placed gide by side, how
long will the row bhe?

Sally receives 45 cents pocket money
per day. How much will she get in
a fortnight?

What length of rope is needed if we
wish to cub it into 45 pieces each
62 cm long? -

630¢ 644 g .R720 cm 481¢

750 g 684¢ 2392 cm

2970 cm

g7o¢ | B8lg

684 g B64¢ 2560 em

© Longman Cheshire 1989 Permissicn is granted for this page ¢ be photocepied for non-commercial classroom use.




13

10

0 2 4 8 8§ 10 123 14 16 18 20 22 24 26 28 B30 32 X

Plot the points and join them in the order indicated in each rectangle.

(4, 18) — (4,6) — (0, 8) — (0, 12) - (10, 18) — (10, 8) — (14, 3) — (15, 4) —
(17, 4) — (18,3) — (18, 1) — (17, 0) — (15,0) — (14, 1) —» (14, 3).

(14,9) — (R0, 18) — (RO, 10) — (30, 10) — (30, 8) — (20, 8) — (20, 6) >
(14, 9).

(4,8) = (4,3) = (5,4) - (7,4) — (8,3) — (8, R) — (14, ).

(86,1) — (R6, B) — (87, 4) — (32, 4) — (32, 14) — (22, 14) — (18, 14).

(0,8) = (0,8) — (4,2) — (4,1) - (8,0) —» (7,0) — (8, 1) — (8, 2)

(86, 1) — (87,0) — (89, 0) — (30, 1) — (30, 8) — (28, 4) — (12, 4) —
(12, 14) — (18, 14).

SHADE THE REGIONS ENCLOSING A A ALK ]
COLOUR RED THE REGIONS EMCLOSING A D :
COMDUR BLUE THE REGION WITH A © INGIDE ;;

(84, 11) — (R4, 18) — (85, 13) -» (R5, 12) > (24, 1) — (25, 11),

(21, 18) — (22, 13). (30, 18) — (30, 12) — (31, 11).
(39, 11) — (8, 11) — (88, 18) — (29, 13). (2%, 11) — (22, 18) — (23, 13).
(87, 18) — (R7, 11) — (286, 11) — (26, 13). (80, 11) — (30, 12) — (31, 13).
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Why are convicts the
slowest talkers in the
orid?

/" DRAW STRAIGHT LINES CONNECTING THE DOTS NEXT %
{ 70 THE QUESTIONS (ON THE LEFT AND RIGHT SIDESOF
THE PAGE) To THE DOTS NEXT TO THE CORRECT ANSWERS
IN THE CENTRE. THE TWo LINES CONNECTED TO EACH |
ANSWER WILL PASS THROUGH A LETTER AND
NUMBER GIVING THE PUZZLE CODE,

2)8a © ® 5)710

Y650 o @sﬁa—gfg
e 20 e .

3)87 ® 2 96 e o 8)415

4Y568 e o 668 @ & 4)B16

e 83 @ .
5)1018 e o 788 © s 5)3940
4384 @ 2 142 e & 2)248
V584 | Y248
57387 © - ° 867 ° 4)3368
® 129 e .
2)1576 e e 3)609 .

e 4)2872
' o 175 '
3)471 & ? e 3)123

— e -

4)TF8Z o & o124 o e4116

3)2004 e - ® 203 @ e 2)350

57675 @ ® 431 ® o 2)B14
® 157 ® |

43208 @ e BIREL

2ITIEE o ™~ o 5Y480
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d the ants run along
ihe biscuit box?

AMSWER THE QUESTIONS T0 )

= 200 + 10 _ BO0 000

B ~ 10000

= 50 000 + 100 = 800 =~ 100

_ 3000 _ 20000
1000 T 10

= 80 GO0 + 1000 = 700000 + 1000 .

= 7000 +~ 100 = 8 000 000 + 100 000
_ 800000 20 000 + 100
100

= 30 000 + 100 = 6000 + 10

50 | B00O| S [R000| 80 |8000} BO | 8 20 | 60 | BO |8000! 7?0 | BO |68000

6000 | 600 {2000 | 300 50 3 600 8 600 | 800§ 70 80 | 700

50 | 200 3 300 | 7?0 50 50 ) 300 | 800 {R000| 80 | 3 ?
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lame these pictures

s " ANSWER THE
g CUESTIONS BELOW!
7o DISCOVER

=5 THE PUZZLE

$

t ] i k | 1 | | } ! -
201 285 233 B30 187 3 35 30 142 160 6 75 160 121 142

600 + 20 = 58 200 + 600 = 8780 + 30
= R700 + 300 E - 24 000 + 8000 | r = 9% 200 + 400
= 720 + 40 E = 24 300 + 900 = 8000 + 50
= 2480 + 70 i - 8620 + 60

= 60 50O -+ 500 = 52 500 + 700 = 18 000 + 3000
= 5400 + 90 _ 57,000
- 200

1\
WA

b ! ! L I i ! 1 ' 1 i
Cg 30 201 3 97 18 R7 3 1BY ©¢ & 75 9OV

1 i i 1 | I ] ! 1 ]

30 &Y 30 1BY 291 221 60 160 142
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PERFORM THE DIVISIONS
BELOW, THE ANSWER To
EACH QUESTION AND THE
LETTER NEXT TO EACH

GIVES THE PUZ2LE CODE,

20128 = 4 = 42900 + 5
5145 + 7 = 2854 + 7
= 4626 + O = 874 + 2 = 2690 ~ 10
= 3012 + 6 = 3400 + 8 =924 + 7
= 5262 - 6 =036 - 4
= 7128 = 8 = %803 ~ 9 L. =8721 -9
>
735|891|658|682|514|735|653 653|662 425|652 |132 |437|254] 269|891 | 867
652 | 132 | 867 | 852 | 969 | 877 | 867 | 322 | 891 | 735 | 425 | 8vv | 735
| B00S| 653 | 322 | /79 | 182 | 652 | 132 | 437 | 2v0 | 682 | 8687 | 858 | 858
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[ANSWER_THE DIVISIONS BELOW To OISCOVER THE PUzzif Code |

DOUBT & [E

k 36 Si1 491 497 %09 203 429 351 154 316 113 @0 Gio
15)6455 65)15 845 27)20 979

21)7392 16)2464 14)5264

33)6699 24)14 640 32)14 208

13)8721 17)8547 18)14 563
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'hy was the patient’'s

cough better in the

CALCULATE THE VALUE OF ONE ITEM FOR EACH OF THE (O
GUANTITIES GIVEN ON THE LEFT OF THE PAGE.JOINTHEDOT  /
NEXT TO EACH QUESTION TO THE DOT NEXT T0 THE ANSWER EMH  LX{¢

LINE WILL PASS THAOUGH A NUMBER AND LETTER GWINGTHE PUZILE (oDEY

7 golf balls

cost 19680 cents. 125 g

A 1000 g cake
is cut into ©
8 pieces.

180¢

4 buses end to
end are 52 m @
long.

87e

A 1015 mL bottle

17
just fills ¥ glasses. m

3600 cents divided
equally between
20 children.

2]

145 mT,

12 coins weigh

a total of 024 g <BO¢

15 similar tape
Measures cover a
total of 255 m

6 full cups of water
just fitl 4 1710 ml
gontainer.

e 158

e 77 g

9 salad rolls cost
783 cents.

A 380 g packet
of chocolate is divided a 8 285 mL
into 24 pieces.

@© Longman Cheshire 1989 Permission is granted for this page to be photocopied for non-commercial classroorm use.
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Answer the questions to discover the puzzle code.

-

2 x 15 — 14 S —72-Gxa)+3 | b =20-10+2

L]
6 X (30 + B) € -25:6+5 L —24-o+12
(2B +58) =6 B8+10+86Xx3

P4 +9Xx3—-1

=(B+5x2)+4

v 36 21 5 18 14 123 5 16 g 21 2 30 12

& 100 15 4 18 B 186 10 18 2 10 &5 100 8

7 12 100 230 %0 2 100 9 21 =& 30 18 36 100 21 3%

2 100 18 4 18 5 100 18 &5 16 10 18 & 10
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SOLVE THE 5
THE ANSWERS AND THE BoLD

Eggs cost 24¢ each.
How much will a dozen
eggs cost?

CAPITAL LETTER IN EACH QUESTION
GIVE THE PUZZLE CoDE.

How much bigger than
1287 m is 154 m?

What Es the sum of
27,18, 83 and 92%

Divide 904 m1, vy 8.

Fi.

Find the ploduct of

i d the difference between
163¢ and 8%¢.

/27 and B7 m.

H@w many 4 litre buckets
of water can be removed
from a trough of

292 litres?

caXsculate the total of
21 ml, 638 mL, 130 mL
and 82 mi.

A v for $15 is paid
for with a $50 note.
How much change will
there be?

Your brother is 47 cin shorter
than you. If you are 182 cm
tall, how tall is your brother?

Six times the sum of 17
and 23 gives what angwer?

By what is 38 multipled
to give a product of $2356?

1839m |73|$63,10776¢|240 (73 |'76¢

1838m 240|73|288¢ | @

71| R88¢ |A7m [$37[113mL|$37)286 mL|286 mI|27m{197|240 73{1839m

113mL|73|76¢|288¢[$62{135¢cm

18539m197{113mL|$37|135cm! e
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R

the author

FOR EACH BOOK,JOIN THE DOTS NEXT TO THE

GIVEN NUMBERS FOUND (INTHE JUMBLE OF NUMBERS .
AND LETTERS) AT THE BOTTOM OF THE PAGE.YOUR LINE |
WiLL PASS THROUGH LETTERS THAT witt SPELL y
OUT THE AUTHORS NAME., N

-]

DESCENDING ODD NUMBERS
BETWEEN 12 AND 30

ASCENDING EVEN NUMBERS FROM
$ 70 2.6 MCLUSIVE.

Jﬂ

ASCENDING CONSECTIVE EVEN NUMBERS BETWEEN

24 pnD Bi
4 T
& 30 19 @ E @ & 38
8 w 240 RO 1%
R 242 0 A
28e A
@
3R 2 P B v 25
2 E L
@ 17
A Y L
2 w 50 E =8 5
+36
R N 1,
44 g L
@ o
D v 21
A 23 1,
210 ® & @
48, L 48 22 o 18 13
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E
What do you get when you
-3 = .3
cross a chicken with a
dictionary? , :
LIST THE FACTORS OF THE TWO NUMBERS IN EACH BLoCK BELOW ;
THEN STATE THE HIGHEST (ommion FACTOB(HeF), mrs AND THE LEFTER
I THE BLOCK GIVES 2
THE By22LE CODE. '
Z
B
25 14
15 a5
HCF = = HCF = oy -
28 206
3rd 7
45 44
HCR = = HCF = =
84 38
57
®__ .
HCF = =
HCF = __ . =K V
(o] 15
33 s
12 13 4 8 7 9 11 5 3 19 8 14 §
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| | /A

| [EXPRESS EACH OF THE NUMBERS
]| BELOWAS A PRODIKT OF PRIME
71| FACYORS,PLACE THE FACTORS IN
] | ASCENDING ORDER THE LETTER
|| NEXTTo £ACH NUMBER TAKES
| THEVALUE OF THE THIRD PRIME
| | FACTOR, BIVING THE PuzaLe Coof.

18 = 174 =
= X X = X X
370 = 52 =
a
92 = 70 =
= * * = X X
£
88 = 140 =
= P4 X X == X X X
r t
102 = 668 =
d
76 = 124 =
18
37 11 29 198 5 23 13 23 5]
17 29 7 Ve 3 | R 31 a7 17 87
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What happ
cat that drank 500
of

Write down the first 8 multiples of each number given below. Find the lowest
comimon multiple for the pairs (LCM). The letter with each pair of numbers and
the LCM give the puzzle code.

LOM = 15:;
20:
LCM =
75:
LOM =
B50:
LCM =
ICM = 8:
20:
7
LCM =
14
LOM = o
15
12:
ILCM =
18:
LOM = £
LCM =
LOM = 45:
30:
10:
ICM =
18:
LCM =
v 24 18 a0 24 6 40 a0 30
180 &} 14 48 80 80 20 45 36
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[SIMPLIFY EACH OF THE EXPRESSIONS

BELOW LEAVING YOUR ANSWER IN

INDEX Fon;t.ﬁ;e LEMTER WITH EACH
STION Wil

O INDEX IN THE ANSWER

Yo GIVE TH PUEZLE CODE.

T Gz

the puzzle code.

Simplify each of the expressions below leaving your answers in index form. The
letter with each question will take on the value of the index in the answer to give

R® x R'% =

Y
158 x 138 x 137 x 135
9% % 2% x 2%x 2B
'?zx’?z: 518
a4 B2 % B9
BT % 35 % 3% x B8 = _
alwliilagleitir|zel ol a|ioizs|l B8] 8611|1910
5liolalvlialisBl 2|1 |9l11l10]1 |10/ 2|86|9|2|4]|6]18

© Longman Cheshire 1889 Permission is granted for this page to te photocopted for non-commercial classtoom use.




Find the anii

fﬁg
[ FOR EACH PICTURE JOIN THE DOTS NEXT To THE NEGATIVE NUMBERS it ASCENDING ORBERJ e
] @
—14 ®
15
L]
—-12e s —1& —-18
L) 11 @
-5 _ B
* e—10* —20w
o
-6
_ -1
i R o 44 g ~19
§x / ~39 ~58
—-52 ® ¢ —31 % o R0
&40 ®
¢ 3z %0
“370 @ e—28
. ]
42w _4’30 —358 __54' _@26 —24
LARGE DOTS AT
Colour in the region around
_“6?@
& 2
. .68
-85
* &
—83 »— 68 @
® A — B8 _
//s 57 [ —7a 4
8 N -7
~80 \ <77
@
—B3e
o—49
® T
—87
—&7 @ —32 @15 —10 —-8 ® .82
Aésa @ # —-99 @
2 &
. \ ~88 -81
. 7 % e g
. -2
o
— —33 —_
» 59@ & —G= @5 —984 259 &
o35 @ o R4 °
_3ve R . s —R6 @ ~Be o o1
-36 _g5 “-av -4 —gp °-93
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you know the
meaning of these
names?

Find the sum of the numbers given. Join the dot next to the question to the dot
next to the answer. Bach line will pass through a number and letier giving the
puzzle code. ‘

o+ v . e -10
R+ B=_ ® : e"ao
"1+ 8+ B=______ e : e 9
184+ 9=______ ®

@ @
Erre— -
TEr— ,, _
s 5
6+*8+B=____ e @—2
D 4+18=__ ] e O

0+ B+ 7= o

v}

44+ 6 = @

e 24
T _
_13+“6++11? 2 e 1

SALLY —

a 18 14 B 12

-~
—
-
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iscover

JOIN THE POINTS A% INDICATED
IN THE JOINING ORDER.

JOIN (-8, —2) to (~3, —8) STOP. | JOIN (~2, —4) to (0, —4) STOP.

JOIN (12, 1) to (12, ) to (14, 4) to (16, 4) STOP.

JOIN (13, 0) to (14, 1) to (15, 1) 8TOP. | JOIN (2, —9) to (4, —10) STOP.

JOIN (R0, —7) to (14, 0) STOP. Draw a large dot at (14, ).

JOIN (—3,0) to (—6,8) to (—8,4) to (—8,8) to (—86,9) to (-2, 11) to

(8, 10) to (8, 8) to (10, 4) to (18, 8) to (14, 8) to (18, 4) to (18, ) to

(18, 1) to (0, —7) to (18, 1) to (4, 0) to (0, —4) to (R, —8) to (8, —9) to
(8, —10) to (0, —10) to (-8, —4) to (0, 0) to (—3, —2) to (—3, —8) to

(—m%, —8) to (0, —10) to (-5, —10) to (—4, ~8) to (-5, —2) to (-3, 0) STOP.

Shade the region containing the point (4, 8) black.
Shade the regions containing (0, —7), (4, —4) and (15, 0), orange.

JOIN (8, —2) to (2, —6) to (10, —4) to (11, —8) to (13, —L) STOP,

JOIN (6, —8) to (4, —4) to (4, —6) STOP. | JOIN (13, —2) to (13, ~8) STOP,

JOIN (7, —6) to (7, —2) STOP. | JOIN (4, —2) to (4, —4) to (6, —2) STOP.
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pyral

Express the following 24 hr clock times in 12 hr (a.m. or pam.) clock time.
Rach answer and the letter with each clock gives the puzzle code.

A
W
a:
!:
c

[

B=tal= (o541
I ==

11:20am {7:31pm | 7:31pm |11:20am | B.4%am | 7:3lam | 3:20pm | 1&8:16am | 7:31pin

&:R20am | 12:16pm | 5:47pm | 7:3lam [}

7:3lam | 11:20pm | 6:08am
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Doctor, | feel like a

2| CONVERTTHE
BATIMES GIVEN BELoW
To THE UMITS

IMDICATED
L

15 240 410 410 3600 14 140 Wéo 48

octor,

B0 4 13 9§

| feel

180 19 § w40

T o |

c'%’lz,ﬁam

.."""ﬂ"mnmu. i

R 24 3

410 24 4 13

9

i 43

\go 1@ 33c 48 2 4 4 4

3 14 336 4

B % 4 gV

48 3% 4 7 9

336

3 n

48 i

5 2%0 15

[ THE_\ETTER, WiTH EACH GUESTION AND THE ANSWER, GIVES TVl PuzaLE cope |

2 days = __ hr.

S hrs =

min.

7 mins, =

sec.

8% hrs = days.

660 mins., =

1 hr = sec.

1 day =

188 hr = days,

R1 days =

wks.

104 weeks =

= mbhs.

840 min =

hr.

2 wesks =

4 min = sec.

91 days =

WKS.

1140 min. =

@ Longman Chashire 1989 Permission is granted for this page to be photocopied for non-commercial ctassioom use.
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& hr — 70 min

What's the

difference

Answer the time questions to discover the puzzle code.

32 hr + 16 hr

20 sec X 18

8 wks =~ 14

J

27 wks
15 wks

8 wks

+ 2 wks

T3 wks — 48 wks

30 min x 144 B9 min + 80 158% sec | Bhr 8~1~hr
2°
. _ R48 sec
- - + B sec =
ifof 3 mins 13 wks — 1 fortnight! 22 min x 90 217 min
184 min
= - = 308 min
+ 221 min
90 min |BO min |59 sec| 1 yr { 3R sec | R days |3 days |B9 sec|32 sec|? days|6 min
38 sec | 6 min |8 min|15 hr|80 min |20 min{80 min |59 sec|33 hr |45 sec| 18 hr
4days | 8min | 6min | 90 min | 35 wks | 32 sec | 8 days | 90 min | 6 min
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= [SOMEONE Wio Hagy
-\ PockeT BERR!E%
e o

Calculate the fractions of the quantities given below in the units given. The letter
with each question and the answer gives the puzzle code.

3 _ 8 -

5 Of $65 = 5 Of 133 kg =

Q - 7 _

3ofl&‘;?ﬁ_r’— 120f348m

3 _ 4 _

40f$96~» gofl’?lhr—

L 1026 kg = 5 re38m

6 €= 11 =

] 4

80f14:4hr— 15 of $345 =

9 4

2001"’?80111 == 501’('815 kg =

18 3

25 of $2285 = 5 of 866 hr =

$162 $39 $02 12 hr $38 B4 hr | 12 hr $72
3Blm | P8hr {114hr| Y6hr |ll4hri 12hr |220m | 351 m | 114 kg
78 hr $39 114kg | 786hr (114 hr| I20hr | 290m | 203 m (652 kg 171 kg
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The doctor fell

mm the W@Ei and

Draw straight lines connecting the dots next to equal fractions. Bach line will
pass through a letter and number giving the puzzle code.

/- 20 3 60 8 18 20 \
% ?@0 ? ';;5 ,120 g: ::;a ;_1
® o
4, . 52
15 78
RO O"
11 120

7 ®
& 17
5 ° ° 19
T .
9

| 24
%@ %g

-1 bt
o

© gE
@i e
al©
|-F>-!H
(03 BAv]
oo
0 8
N
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A

SIMPLIFY. THE ERACTIONS GIVER, STATING YOUR ANSWERS IN SIMPLEST MIXED NUMBER FORM.
EACH ANGWER AWDTHE LETTER ARGUND IT GIVES THE PUZZLE ANSWER CODE.

—

51206 |21 008,402 2].200].0 01022
82175 | o 1% | 6lR% | |5 | W |% %% |2 |%2| "5 ] 8
1 3 4 & 5] 5] 1 1 2 ) 1
: 8e | 1 s |12 | 12 lwog | 5 | 88 | & | 13
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=0

0
156

17
156

6
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e Lord sai

, "come forth”

The letter next to sach question
takes on the value of the fraction
subtraction in simplest mixed number form.

v 3

12 12 L

alaol 2| a7l ala|mlavl| vl vl 1l.8] 1
15 126 |15 | %5 |R10] 5 | 3 |%s6|%20(%20 |*10]| ‘2 |*12| 2
E s laf{s |18 |1 |5].2],8]|m]:1
2 | % | 2| 2| 2| 2| 2% |%2|%s]| 2
S 1 1 4 ST I G PN GO SR R ) } 1t 2 1
2 15 1% | % | 2 |22 |%0|% |%6| %6 |15 | 3
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happeqs to liars

when they

=
:;.

;J

A G

to the question in the second block Wh_lch starts with the answer Finally, tIns
letter and the answer to the second question gives the puzzle code

1,1 8 5 _
L RagXa~™ E 916"~
4 15
5% 16
R 1 _
S 8 S X 255 =
14
Y 12,4><?_
z 14
= ¥ == =
| 3.8, 4_ v X a7
2% g* %

W= | O3
X
0

~1 i
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scovery tin

ANSWER THE QUESTIONS RELOW,
FIND THE DOTS NEXT TO YOUR ANSWERS
AND JOIN THEM IN THE ORDER, INDICATED
BY THE ARROWS.
1.1 _ 3. 1_ 4.3 _ _,!__9_;§=
2 4" T2 5" '4’5'5‘ 10 B o+
15 8 3 1 4 2 1 2
_ L —— = = —— = — = = - — e e = e
16~ 33 T »* 28 978 2715
11 ' 5 5 25 15 ' B 11 ~ BB
1 1 _4715 15 . 1
Tz = =+ 3= i -
i a5 3 STOP START i
i . 8 _ 1.8 _ s B R85 _ b 7.1 2
17 34 4 7 12 48 10 18
2 1 b 5
- = — = e - S o= = -
57 18 STOP START 6.8 > 3 5
1 1 1 58 2 22 5
—_— = — - — = — = — o —— - e e
82 2 > 87+ g -3»:53 Y 13,? 2
4 7 3 5 6 1 1
= 2y = - 05 » 4= = - BT = 4= = >t
95 0 —T64.3 e 9,? 4,? 63 42
1 3 6 1 1 1
— - e —— — = = —_ — = - — == = =g
210‘14 al»lﬂ 32 » 10 34 > 82 8
4
21 L 5
2
L]
&}
T,
7 12
léﬁ .
)
3
15 °
4 el2
1.2 _ . 9 . 6 _
65 F 5 = - T 1L STOP
COLOUR IN BLACK THE REGIONS AROUND 8% + 2% =
1.7 _ 4. 38
AND 54—.12_ AND 47,.,77_
COLOUR THESE REGIONS IN BROWN 1(% <+ i%
S.8_ L%
8479— 20.7
1.1 _ 7.8 _
805+ 4 = 8 B0
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%‘i a @ @ u Ti
:  Why did the girl
4 tiptoe past the
edicine cabinet?
w3
;|
Answer the mixed fractions questions below. The letter with i3
each question and its answer gives the puzzle code. E
2. 3 5_1_ m
5ta" 58 2"
4 21 18 .1 _
740" a5 "1~
1 5 =3 _
25 + 55 = é 86 34 =
1 . a9 _
2= X 32 = E 10 = 34 =
8 1, .4 5
SE+21+16 6“2%—
3 L _ 48 8 . ol _
lixggxz}g 12—gw39m
7. 1.8 R.9 .1
85 + lé X Bg 55 70 510
19 3 5 | 135 15 v | 9 | 5| 13| v
6 524 10 8 512 8 920 69 10 118 920 69
s 2 g S 1 3 7 19 5
69 3'?’ 10 ! 12 85 10 69 584 10
71 3| 3 1 131 3 I A
6 |°11| 10| 10| 2 |%8|%0| 5 | « %8571 |53 s
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Express each fraction on the left of the page as a percentage. If your answer
ig the same as that on the right of the page then colour in the entire strip
containing the question. The letters remaining uncoloured will answer the puzzle.
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IN EACH PROBLEM EXPRESS THE FIRST
QUANTITY GIVEN AS A PERCENTAGE OF
THE OTHER  THELETTER witH EACH PROBLEM
AND THE ANSWER GIVE THE PUZZLE CODE,

k50 g 800 g
36¢, $2
35 km, 175 km
18 min, 2 hr
1
26 hr, 40 hr
g 1200 m, lé ki
$19, 820
6 boys, B boys
13 pies, BO pies
3 sec, 1 min
e
E 12 ml, 285 mL
9 trees, 30 trees
&2 cups, B cups
12 pens, 8 pens
6% | 65% | 95% | 15% | 5% 5% | 76% | 80% | 85% | 20% | 15% 150%
8% [ R6% |85%|26%| 15% |40% | 65% |50% |30% |120% 76% | 18% 165%|120%{120%
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Answer the percentage questions
to discover the puzzle code.

e
10% of $350

\

25% of 216 kg

1
2

/"
923% of 125 min

80% of 165 kg

33%% of 1% nr

45% of $180

\

95% of $160

N

150% of 30 kg

5% of 5 hr

/

18%% of 638 min

70% of 110 kg

18% of $580

e e e ——

/
79 min | 115 min $81 45 kg $152 77 kg $99 b4 kg
$81 $152 45 kg 132 kg 7Y kg 15 min $35 30 min
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What's black and

mte and lives
in the tropi

Unscramble the flow chart instructions on the right and find each one’s correct
position in the chart (numbers 1 — 12). Join the dot on each instruction to the
dot on the correct box with a straight line. Each line will pass through a letter
giving the puzzle code.

GOING TO THE PICTURES

Buy something
to eat

Enter the
theatre

Are you
hungry?

& STOP

Watch the
film

Do you have
® enougn Money
for a ticket?

Go to your
seat

e START

Go
home

Teave the
theatre

Pay the
cashier

- Is the film
- @ finished
12 @ yetl?
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The letter beside each decimal number takes the value of the digit as indicated in
brackets. This gives the puzzle code.

18-952 | | @1 =
(thousandths)

38596 —
(hundredths)

72031
(hundredths)

21638
(hundreds and tens)

BRa714
(thousandths and
ten thousandths)

C

- (ten thousandths)

0-85635

- B-236

7 (tenths and hundredths))

08345
(hundredths and
thousandths)

43076
(units)

_ 151876
o  (tenths)

R3

R4

41| 8 |6 |14|34
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Find the 3 continents

Shade in the regions below where the fraction is not exactly the same ag the
decimail. The regions remaining will represent the 3 continents required.

@© Longman Cheshire 1989 Permission is granted for this page 1o be photocopied for non-commercial classroom use.
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man who wan

n @ B Find the sum of each of the
quantities below to discover
the puzzle code.
$3-40 26 ¢g 035 cm $0-54 08 g
$2-73 53¢ 192 cm $1-96 08¢g
+ $1-85 + 98¢ 54 cm $3 13 g
+ 0-87 cm $2-17 28 g
+ $0-88 +18¢
6-3 cm $5
24 cm $2-80
15 em. $1-76
+ 3-8 cm + $3-85
0813 g
1-766 g
+ 2001 g
368 cm 0-8v6Re H 4 e 08 cm
188 cm 00125 g
+ 5-36 cm 4+ 183413 0 BN 0000 mmm————
——————— O73 g
B o OB5 g
T 03074 g 03l g
o e 1982 g 042 g
+ 22106 g + O1l7 g
14 cm| $85B8 {177 g1$1966{12-0 cm| 468 g| $8-65 {14 cm [$13:21| 45 g | $7-98
223g|458¢g|1lcm| $655 | $798 | 223 g1884cm| ¥-1 g | $865 |11 cm
T
11 em |$13R112R23 g|188 ¢ |14 cm $8-68 | 4B g |$13R1123Fg|458¢g
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100 feet in the air

ANSWER THE DECIMAL
° SUSTRACTION QUESTIONS
" 10 DISCOVER THE PUzZLE CODE,

103-146
— 27016

N

664118370385 |0-333{16-81|5:62|1-88 |28-82[44-54[8-73 | 33-38

1-88

578

1-88

18-87 44-94

28-82 1837 8%3 | 4404 | 4301 ; 2795 | 1681

562

7613

AN

DN

\
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Answer the questions and use the code 0 get the message.

23l x 10

0674 x 100

379 x 1000

473 x 100

0-00674 x 1000

0231 x 10

379 x 10

0000473 X 10 000

0-06%74 x 10

0-03792 x 100 0-0473 x 1000 7-34 > 1000
473 0674 % 473 2310 379 B'7-4 2310 7540
231 R3] 3790 674 473 473 473 473 379

(© Longman Cheshire 1988 Permission is granted for this page to be photocopied for nen-commercial classroom use.




What happened when the

glow-worm was
framped on?

Join the dot next to each question on the left to the dot next to thse correct answer
on the right of the page. Fach line will pass through a. letter and a number giving
the puzzle code.

23 X 80 = ® 162
064 X B0 = ® 324
081 x 400 = & B2
0031 X 2000 = ® 81
136 X 90 = ] 16-1
500 x 003 = 8 324
70 x 083 = @ 1224
1-008 x 7000 = ® ;
0:084 x 600 = ® 178
40 X 008 = & ;
1-.5 x 80 = . @ 7056
089 x 200 = ® 120
27 x 30 = | ® J
00083 X 400 = 2 & 15—

14

© Longman Cheshire 1989 Permission is granted for this page to be photocopiec for non-commercial classroom use.
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Answer the decimal products below. Colour in regions where the answer appears
at the bottom of the page. The letters in the remaining regions will apell out the

answer.
2.3 27 91 7
X 4.5 % 64 X B2 X 83
3-8 089 17 2:03
X 84 %X B4 X 98 X 98
564 81 208 2078
x 72 324 X 37 X 08
864 064 o7 1-28
X 04 X 0-83 x 098 x 049
294 63 8- 50-2
» 067 X 0-Q »x 11 x 073

(166-:24 8391 40-608 19698 1666 06174
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Which is faster, hotor ... 7
cold? B

[ ANSWER THE GIVEN QUESTIONS
THEN ARRANGE THE ANSWERS IN
ASCENDING ORDER WITH THE LETTER|
GIVEN NEXT TO EACH QUESTION, |5
THE NUMBER UNOER EACH ANSWER
AND IT5 LETTER GIVE THE CODE.

263 = 100

A 4793 — 1000

U N . T

8728 + 10

8964 + 100

98 710 <+ 10 000

Y 52 600 + 1000
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Humpty ' had a

great fall. AEE the King’s
orses and all the

- 162 = 20 - 56-88 + 90 J o - 4264 = 60

= 1805 + 500 = 2046 + 600 = 19300 + 4000
= 639 + 50 = 1028 + 40 = 3486 + 6

= 8960 + 1000 = 1605 + 50 s - 862 + 0

89 | 0021 108 (0021 | 1:08 (0632} 188 | 962 | 162 | 647 | 1-08

221 | 168 { 108 | 108 | 1B2 | 581 | 341 | 962 | 108 | 0632 | 182

81 | 31§ 708 (0632 | 081 ;0301 | 183 108 | 3714 | 0021 | 581

= 1064 + 70 = 1224 + 80 = 972 + 80
= 14856 ~ 400 1824 - 200
= 7120 -+ 800 = g3 + 300 = 18305 + BOO

153 | 962 |0-428| 581 |0301| 48 |3861] 321 2587 | 206 | 213

206 | 3714 | 3714 | 581 3861 | 3714 | 3861 | 0833 153
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T0 FIND THE BUZZLE CODE. You WiLL THEN

( ANSWER THE DECIMAL DIVISIONS SELOW \ob Ol

LEARM THE MEANINGS OF THE HAMES GIVEN 22

[E E@&m} 0-1381159(89{0-88|6-33|2-38|5-8{8-47| 847

536|159

8-47

8)216
2688 0834 4)2552
?)658 2)318

4558

89 | 134

[WEED&EE@ 117 | 847 [ 1588 |74 |27 | 147 |74 | 150 | 8.4y
8)936 | oY7E8
6444 572255 V887

ol /
{@@m 58|847|150 /083 |2-7|150| 847|134

36

13-4

0-138

@ Longman Cheshire 1988 Permission Is granted for this page to be photocopied for non-commercial classroom use.
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'hy is V like
n angry bull?

Answer the deecimal divisiong to find the puzzle code.

7161 - 21 7434 + 09 7308 = 1R

0-0B886 + 0-08 1364 + 1.1 9-878 ~ Q-08

= = == (]
> > T

02135 ~ 0-007 4395 + 15 0-0806 + 31

2442 + 06 0-902+ 065 2-864 +~ 004

826 0654 6-08 541 716 4-07 0884 1234 1-64

600 | 293 | 308 (0684} 407 | 341 | 184 | 1-64 | 0654 |00R6| 716
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ROUMD OFF EACH NUMBER GVENTa 2 ~
DECIMAL PLACES. Join THE DOTS HEXTTO

YOUR ANSWERS (NTHE OROER GIVEN.THE
AESULTING PICTURE WILL BE ‘VACANT!'

1064 438 ® te o
K R 350 108
8-568
210 013
ol e ® 2.04 i .
564 551
400 0'30 546 791
582 @ ®
a5 10
Y %0‘52
2-B5 @
697
R 241 320 272 . 315
760, G-44 ¢
START 62193 =~ START | START §{
B-837 = B-Z3O7Y =~ 44162 = 5-1046 ==
o718 = 1-978 = 17839 = 08062 =
1-055 = 34961 ~ 31472 = 2B4T =
42834 = 4697 ~ STOP. 5-818 =~
5-6841Q = 01329 ~ 7-8039 =
3006 =~ 19848 ~ START ¢ STOP.
2007 ~ STOP. | 27R4B =
epe— 31964 = START |
1584 — START { 6987 = 46977 ~
p— 25471 ~ STOP. 7-3162 ==
27166 ~ | 5096 ~ — | 3455~
e 60721 ~ - i 05156 ~
| 0817 =~ B a— 6-5471 =
- — 7598 = | Jogrl = STOP.
5-4444 = _(owo =
TR — 1-3827 ~
51526 ~ | R406 ~
| O 0e0 = 0705 ~ STOP. START |
7908 ~ 21034 ~
STOP. e
7-0369 ~
STOP.

© Longman Cheshire 1983 Parmission is granted for this page to be photocopied for non-commercial classroom use.
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Change each fraction given to a decimal
to discover the puzzle code.

0-8310-875

o758

o-éETo-S'?s

0-887143

078

0-083

075

0-45

0375

026

045

J
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3

Express each of the decimals on the left as a percentage. Join the dot next to each 4

decimal number to the dot next to the percentage answer on the right. Bach line k
will pass through a letter and number, giving the puszzle code.

%

083 = 51% 3

@

081 = ® | ® 365%

@
sabalt sonuad

1-06 = 8 80%

542 - . | . .
0365 = @ o 8%
o ’ ® 106% A

016 = ® ‘ ® 510%
E
83 = @ ® 3423%

0842 = o ® 83% R

368 = @

e 16%

008 = @ » 50-1%

0-B01 = s @ 36-5%
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T
T

AT
i : . onsd

|| 1N EACH SECTION BELOW, CHANGE THE
)| PERCENTAGE GIVEN TO A DECIMAL .
1 COLOUR IN ANY SECTION WHERE THE
A1 DECIMAL GIVENIS IFFERENT 0 YouR
ANSWER, THE REMAINING LETTERS I
UNCOLOURED SECTIONS SPELL OUT o
__ T PUZILE ANSWER., g

- 7%
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hy

gives the puzzle code.

did the littie
ink-spots cry?

AnsWer the lettered questions about the column graph. Each letter and its answer

TEST SCORES

History

Billy’s score in ATt

Name

English

w B The English score for Billy.

, Tanisg's total score for the three
F subjects.

®m g The score that Tanig received twice.

The English score for David.

David’s two highest scores combined.

Sally’s lowest score.

Sally’s total score.

v The highest English score.

, The difference between the highest

scores of Billy and Sally.

s The total of the four Art scores.

How much above Sally’s highest

P score is David's highest score?

E David’s worst score.

* The difference between the English

scores of Tania and Billy.

The sum of Sally’'s History and
English scores.

Dawvid’s total score.

16

10 11 15 8 g 1
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L AR i

you hear

for a service?

an who put his car in

ANSWER THE LETTERED GUESTIONS
ABOUT THE PICTURE GRAPH, THE
LETTER AND ITS ANSWER GIVES
THE PUZZLE ANSWER CO0E
JOHN'S ROADSIDE NEWSPAPER SATES
Day ) ] s
MONDAY
N [
TUESDAY
i e By ety
WEDNESDAY [f]
4
THURSDAY
- s B |
FRIDAY
] -
SATURDAY represents
10
Newspapers sold newspapers

& The number of papers John sold on
Wednesday.

The difference in tie paper sales on
Monday and Tuesday.

The total newspaper sales for the
whole week.

@ The total sales for the first 3 days.

How many papers were sold on
Friday and Saturday?

The number of sales represented by

-

- The difference between sales on

Monday and Thursday.

How many papers were sold on
Saturday?

Total sales for the week days,

The greatest number of sales on
any one day.

B

The sales for the first day of the
week.

How many more papers were sold
on Monday than Saturday?

Twice the number of papers sold on
Tuesday.

25 | 145 | B 95 | 60 | 70 | 80

245

860 | 80 | 45 | 35 | 70 | R70

860 | 25 | 145 4B | 85 | 80 | 30

48

2B | 20 | 95 | 95 | 30 | 245
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7 7

ls FIGH

ANSWER THE LETTERED
(ESTIONS ABOUT THE
CIRCLE GRAPH. EACH
LETTER ANDITS ANSWER.
GIVES THE PUZZLE (o0

FISH CAUGHT ON A HOLIDAY [WE CAUGHT )

§ 12 72 4 9 45 &4 48 40 0 g |

The number of fish caught
by Brian.

The 3 youngest boys were David,
Peter and Deon. How many fish
did they catch?

S How many fish were caught by the E
“op’ fisherman?

Tim gave half his fish 40 his
girlfriend. How many did he
give her?

Tim and Peter caught the same
number of fish. How many was this?

» All but David’s fish are frozen for
= later use. How many were frozen?

This number was David's catch.

Brian, Don and Deon were
competing against the others,
How many more than the others
did they catch?

How many more fish did Tim catch
than Don?

2 of Peter’s fish were salmon. How
many salmon did he catch?

Peter and Deon were having a
competitionn. By how many fish
did Deon win?

Excluding Deon’s catch, how
many fish were caught?

Brian and Deon gave their fish
away at a caravan park. How
many did they give away?

Half of the fish caught were
" salmon. What was this number?

{© Longman Cheshire 1988 Permission is granted for this page o be photocopied for non-commercial classroom use.
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Use the ‘travel’ graph to answer the lettered questions. Each letter and its
answer gives the puzzle code.

HOW FAR FROM HOME

THE FAMILY MEMBERS WERE ON SATURDAY

L akd o oy
tanoefrom i 1 1
01 ; 1 }
Ié i 5
-y Fin
Ly '
[ X
& SEGE TS
LN y 4
. »
o )
[yl
l >
il
n\ ¥
i ¥
I3 | i
(3
’l
ri ; A
g"’n r. o
t
r Y A Y24
' - ;; 3 i
o ™
1" =t T Pt b""
lpm 2pm Spm 4pm Time
What is Bill's speed in h At what time did Sally When did Sally leave
a’ km/hr? start to drive hhome? O home?

At what time did Jack
stop jogging away
from home?

. How many km did
1  Sally drive during the
afternoon?

At what speed was
T Sally driving home
(in km/hr)?

How many km from.
home was Bill at

How far from home
was Bill at 8:30 pm

How many km from
t home was Sally at

wag Sally going in
km/hr?

4:30 pm? (in km)? 2:15 pm?

In travelling away At what time did Sally How many km apart

from home, how fast ass Bill? are Jack and Bill at
e m® W

3 pm?

How far from home

When did Jack arrive

How many km from

(in km) did Jack jog? | T] home? y home was Bill at
4:15 pm?
45 | 3pm | 6016520140680 dpm | L:30pm | 45 | 3 pm | 120 | 3:30 pm

45| 3 pm | 60 |1:45 pm

120|70|70|30|60(1:30 pm |10 | 35|30|45; 60| 40
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What's the difference ngmmgﬂ
petween a hill an

]
g f ] €D \Cm ANDOTHERS BV mm.
a pill il
[ | ;
MEASURE THE LENGTHS OF THE

15 LETTERED STRAIGHT LINES BELOW,
THE LETTER AND THE LENGTH GIVE
THE PU2ZLE CODE.

8l mm |15 mmi8cem |83 mm |10l mm {13 cm (18 cm |7 em | 45 mm

138 mm |81 mm|{l16 cm|8 cm (1368 mmiB0 mm |4 CIE}.L]_SB mmi58 mm|8 em

Slmm{lsdmm |13 ecm|{8cm|7em |23 mm |10l mm 13 cem (18 em | ¥ em

45 mm ISGmm 8lmm|l6cecm|{8cm|{138 mm|45 mm |81 mm!l4 cm| 165 mm
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Bl SR

Tell

grea chemists of the
seventeenth century

Find the sum of the lengihs in each question on the laft. Join the dot next to the
question to the dot next to the correct answer on the right. Each line will pass
through a letter and number giving the puzzle code.

16m B0 om
+ 77m 83cm
® @ 11 m 54 cm
sam 54 cm
5m 17 cm
+ 2m 83 cm e ] 58
m cm.
PBem 8mm
4+ &2l cm 5 mm 13
] m
93 c¢cm 7 mm T
84 cm 3 Imm
e 8mdd8cm lmm
Z2m 18cm 4 mm
om 63cm 7 mm 8
+9m 5B2cm 8mm @ 24 m 33 em
dm B8cm bBmm '
+4m 8Bcm 6 mm @1?m34cm9mm
1"m 8%Yem & mm
+84dm 12cm 9 mm
o ® 97 cm 3 mm
"m Yacm 4 mm
+5m 27cm 6 mm
@ 2 T2 m 1 mm
1 2 3 4 5 8 3
5 v 7 8 3 8 8
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Why did the jockey take
hay to his bed?

ar®

199°

263°

44°

35°

133°

114°

68°

R85°

150°

168°

14°

a7°

3107

30°

85°

80°

338°

120°
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at is the m
ach of these
names?

e

around the page. Bach angle and the letter it passes through gives the puzzle

Extend the lines you draw, so that they pass through one of the lettered sections

code.

o - :
@@hm 172° | 338°| 20° | 106° @@@ 30° |218°| 3° | 24°

id>N

@E 120°| 24° |106°| 68° | 140°| 108°

Q00
@I@ﬂnﬂ@ 314°(338° 29° {106°| 89° |338°1120°|150°|338° 58° [283°|106°

283°
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In the picture below, colour in the regions in the following manner:
ACUTE ANGLES — Orange; OBTUSE ANGLES — Green; REFLEX ANGLES — Blue.

e

|

ﬂé

ST N\ T
—\| b—
Al X
\

J>\\Q//

T
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;E IT THROMING HEAVY ROCKS? |

Vhat is hurling

Determine the perimeter of each
figure below. The perimeter and
the letter inside each. figure
gives the puzzle code.

" | JUMHING

OFF
!

( 4 m 9 20 cm
I 10
IE A —_— | C cm
5m —_—
25 cm
U{ 6 m 30 em

%SF —40(}41

cm cm

66 cm |13 mi38 m|21l m|12 mi86 cm|283 cmi{B4 cmi21 m|{l2

mik22 cm)

111 em|(l2 m

32 m|b4dcm |49 m |83 cmn |28 m |32 m |22 em|l18 m

2l m

D 66 cImn

13 m

M 23 cm X 66 cm |8

12 m 660ni 23 cmisl m|l8m

2m

25 m |38 m

54 cm

40 m BB miB68 m 1].]_cmB BYm|l3m|84 cm V5 om

Ksam 57 m

12m

D

Rl m |28 cm | 12m { ?8cm | B35 m | B4 em

51 m

Blm | 32 m
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What has a ball got to

0 with a prince?

Calculate the size of the lettered
angles in the triangles and

quadrilaterals given. The angle
and letter give the puzzle code.

100°

B50°

194° | 80° | 40° | 31° | BR° | 115° | 40° | 31° | 6R° | 126° | 194° | 126° | 115° | 40°

186°|118°%1688°1194°| 60°|40°|90°| 80°| 70°|126°|115°140°|194°[ 1R6°|115°|40° | 62°

31°122°(126°|115°|62°|194°|37°|60°|31°| 60°|126°| 194°| 126°(115°| 40°| 90°|31°[ 62°
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hy did the

lasses?

Draw in the bearings indicated in the blocks at the
bottom of the page. Bach line will pass through a
letter giving the puzzle code for that block.

teacher

N 50°E T 85°W NN 80°RE N 35°W 8 223°RE 5 7OW N 85°W
of David of Peter of David | of David of David of Tim of Peter
3 68°H N 85°W | 8 BO°W N 80°E WIE | W35°W | 8 79°W 5 79°W
of Tim of Peter | of Peter | of David | of Tirn | of David | of Tim of Tim
8 14°W N 35°W 8 ve'wW 8 7O°W 8 BO°RE
of David of David of Tim of Tim of Peter
¥ BO°E 8 80°W 5 10°W N 80°E 5 66°R N 7O°W
of David of Peter of Peter of Tim of Tim of Tim
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[ CALEULATE THE AREAS 1D 6m m
OF THESE RECTANGLES,THE 5 m
ANSWERS AND THE
| LETTERS 1N EACH GIVE
THE PUZZLE CODE,
2m 7 m
5m 4 m
8 m
51m
Sm
3 m Sm
7 im
S m 4m
186 m 2 m i
r? m ==
1lm 8 m
45m® [ 84m® | 30m® | 16 m® [ 49 m® | 30 m® | 32 m® | 30 m®
Z0m® | 42m” | 15 m® | 16 m® g2l m?| 64 m® | 45 m® | 36 m®
24 m?{42 m®|80 m?|45 m®?[32 m?|18 m? |64 m?{21 m3{77 m?[30 m?
48 m® | 36 m® 45 m® 24 m* 45 m* 24 m? 30 m?
42m® | 27m® | 15m® | 49m® | 30m® | 32m? | 15m®
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o
sk

%
¥
£

STERTTE

wERi B

e

g
(j‘

How is a rifle like
a lazy worker?

Calculate the area of each triangle.

&
H

I
I
t
]
I

Join the dot inside each to the dot next to the answer found around the page.
Each line will pass through a number and letter giving the puzzle code.

11

12

13
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3 famous stories by

Robert Louis
Stevenson

Determins the number of faces, edges and vertices in the solids showr. The
number and letter with each gives the puzzie code,

T T T T I T T T T T T T T T T ¥

g 12 8 6 4 15 4 4 12 &8 8 6 12 B8 1B 8 &
vert. vert. vert. fac. fac. edg. vert. vert. edg. fac. vert.-edg. vert. fac. edg. vert. fac.

T T T T T T T T T T T T

7 12 8 12 10 10 12 8 S 10 4 12 8 8
fac. vert. fac. edg edg vert. vert. fac. edg. edg. vert. edg. fac. vert,
4 9 8 8 12 18 18 6 8
faces edg. vert. fac. edg. edg. edg. fac. vert.

- faces = h
-~ - .
- edges =i \\
edges = a vertices = j faces =k
vertlces = 4 vertices = 1
faces = g adges = 1m

edges = s

faces =

n faces =t
edges =D vertices = u
| vertices = edges =y

© Longman Cheshire 1989 Permission ¢s granted for this page 1o he photocopied for non-comimercial classroom use.
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Sslile

Each cube shown below
represents 1 cm®. Find
how many cm? there
are in each solid shown. The answer and each letter give the puzzle codes.

Y cm

11 em®

10 cm?®

8 cm

13 cm®

16 cm®

¥ em® | 15 cm®

13 cm?®

9 em

15 cm?{18 cm®|14 em®

14 cm®

18 em®

32 cm®

32 cm®

8 cm

8 cm

17 cm®

© Langman Cheshire 1989 Permission is granted for this page to be photocopied for non-commercial classroom use.
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The police are looking for a man
wﬁh one eye called

Simplify the expressions by adding or subtracting
like terms. The answer and letter circled beside
the expression gives the puzzle code.

i

Tl

18p — 7p =

SX+Bx -+ Px=.

20a — B6a — Va =

8e + 18e —~ Qe =

2p +8p —p =

6 —3x +9x =

=28 + 3a — 4a =

a+ 2a 4+ a -+ 4a =

10p + 7p — 3p =

Bae 4+ Rae =

13px — 1llpx =

e+ 8e — Be =

Yx + 8x — 9x =

px + 2px + Ipx =

g5a — 1Ba — 8a =

10ae — Yae + ae =

2e + de + 4de — Be =

1%p + 18p — 13p =

19x — 7% + Bx =

Sae + Bae — Tae = 12px 4+ 13px =
Bae 14p Bp 22p 4ae Ba, 2px
6px | 17x | Tae | 1le | Ba | 9p |RBpx| a |[18x | 7e 0 Be | 18x
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mmﬁe? in history?

Remove the ‘X’ signs and simplify the expressions
given. Join the dots next to the expressions and
the answers on the right of the page. Each line
will pass through a letter and number giving the
puzzle code.

@ F e 10e
| I
SXmXxX_a-= & | M @ 1Z2ae
2xa+3xa= @ 9 5 e 6m
A
exXx B XxXxa= @ N @ 8mn
‘ 6
axX3XeXR= @ e 9a
W 12| |U
4XmXxX2xn= @ , 2 28m
14 1
I0Xm-83X2xXm= o 1 e Ba,
T 3110 11
BXeXBXB= ® 8 ® 8mn
C |
TXax8—-—8xa= ® D e 4m
i 2
I XeX4xXag= e e 286
18 Xxex 4= @ 5 ® ]185a
IX D XIXm= @ R_ 4 2 308
4X 7P xmx1l= ® S H ® B
it
BXax9-86xXx28Xa= ® ® Bae

10 |12 1 8 4 & 4 13 3 1 12 {11 1 14 5 e
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der in the court!

der in the court!

Calculate the value of each expression.
The valie and the letter next to the
expression give the puzzle answer code.

- SUBSTITUTION VALUES \_‘
a=5,b:2,x=4,y=10
da = 2_y:
X

4b — 2 = (a + b)® =
Xy — 6a = 31 — bx =
x® = by — ax =
abx = abx + y =
7 = b(a + x) =
5b + 4a = b =

0 3] ;E’SO Tég 49 2 15 8 16 | 40 | 380 | 18 2

1525|106 |2 |30| 4182 |a0|l1s)15]18 16#
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1S HE THE WORLD  \
\ SOUASH cuanmom

Simplify the expressions given on the left, leaving
your answer in power form. Join the dot next

£0 each guestion to the dot next to its answer

on the right. The lines will give the puzzle code.

aXaxaXxaxXa= & e C

bE%bﬁm e e 1o
.

@

o]
[
o

]
0]

o
9]
i
@©
B
fl
]
@
(=)
©
@
Q
T
CDN
©

@
o]

glf - gll — ® 11 s a°
2a° x 3a® = @ e Ba’
10b% + Bb® = @ . e a’b®
c®x e xe® xe®= O a

e cte*

L)

©
.

abaabbb =

a™® x a? + p* =

gmmx
Q

ge® x ¢% =

c® x o7 = gl% = 14

.I
e" xe® xe= @ . ® a%ph*

c’e® x cBe? = ® e b’

a
& [::3
Q
]

@

1631311396T4ﬁ171496112 88|16
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Why do mothers dress
baby girls in pink and
baby boys in blue?

Simplify the expressions given by expanding brackets. The answer and the
letter beside each give the puzzle answer code.

2(x + 3 = 3(y — 2) =
2(x + 2z) = S5y — 3x) =
4(8x ~ y) = 7(3y +z) =
3(x + 7y) = 4(x + 3z) =
2~ =) = [ rec-p =
B(2x — By) = (x—y) =
B(x — 4y) = " Ay +2) =

By — 8z | 8x + 8y | 3y ~ 3z | 3x + 2ly RE ~ 2y

8x — 4y

X + 4w | 83X + Ry ?x—?yTSXngy By — 18x | 10x — 15y

8x — 4y | 8x — Ry

Rx — Ry | 3x— 18y | Rly + 7z | 8x — 4y

Ry — RZ|RX — Ry |8x — 4y |4x + 18z |4y + 42|8x — 4y|Rx — &y |
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sparks around here.
Solve the one-step equations and join the dots next to the
answers in the order given, in each block of equations.
e 20
821
'14@
5 20
@ 100 8o o1
&4 e .‘38
&
25 158
l3e [ohd
Qe ® o
18
022 ge 16 11
* @2
2 1R
shade in
ge this region.
Ba = 12, a = nx%Y=63n= 8A =32, A =
b+7=181b = P+8=233,p= B+6=203B=
c— 11l =R,¢c= q-—18=909,q= C—-5=20,C=
d+2=1,4d= 6r =78, r = D+-5=28D=
Be=9 6= S+3=23§8= B+7%=135=
f+7=25"~=
T+ 15 = 83,T = Lrr =171 =
g - 7= 0: g =
= U-19=237U= G-4=70G=
- i &, h=
ol 2V = 40,V = 2H = 32, H =
4 +i=a80,i=
i I-8=18,1I=
j—10=18,5 = W x2=056W=
+ = B4 e
9k =9 k = X +58=12X= Jt49 =549
L+13=33 L= ¥Y¥-8=87Y= m+ 7 =20,m=
M-—7=19 M= %=1,z= R-17=1R=
© LLongman Cheshire 1889 Permission is granted for this page fo be photocopied for non-commercial classroom use,
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AND THEIR TIME GIVES THE PUZILE COOE.

Where would you come
across spelunking?

THE 100m SPRINT TIMES FOR 64 ATHLETES ARE
GIVEN BELOW. TAKEN N GROUPS OF 4 WHAT WoulD
THEIR RELAY (#xl00m) TIMES BET USE A CALCULATOR
FOR YouR ADDITIONS.THE LETTER NEXT T EACH GROVP | < o

o

ey,

—=

1021 116 1088 145
1153 1184 1197 1320
1096 1107 13-24 1281
1247 1224 1158 1254
1024 1154 1457 1265
9-98 1227 1563 1194
1086 1214 16-93 10-22
1075 1293 12-14 1267
1053 1327 1027 1263
11:04 1281 1093 11-89
1006 1393 10-54 1366
10:81 1054 1164 1475
1674 1205 1019 1103
1591 1323 1027 1227
1842 12:87 1034 1341
12-47 1142 1018 10-69
47-48 | 43-38 | 4675|4517 | 4767|5514 4098441-83 5203 4957 | 474 | 5927
47-48|40-98|47-48 | 4008 | 45-17 | 43-38 | 5203 | 474 |5927 5514 | 4057
4338 | 45-17 | 5055 | 5314 | 4183 | 52.93| 49-57 | 4675 | 4517 | 4767 | 4748 | 43-38
48-8894675| 5293 | 50-55 | 47-48 | 4558 | 4888 | 4185 [ 4967 | 5295|5055
474 |BoRY 5514 | 5203 42-44 B314 | 4338 | 48-88 | 42.44] 4748 | 4098
5927 | 43-38 | 45-17 | 50-55 53-14T40-98 6354|5314 |42-44 4338
TSO-SS 5314 | 4517 | 43-38 | 4748 | 4336 | 48-88 | 4675 | 4517 | 4767 | 5514
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W .. .,.
st Rt T s

t did the

the tree?

/ FoiLoW THE CHANMELS BELOW AND PERRSRM
“THE MULTIPLICATIONS AND DIMISIONS wWiTH Al
. YBUR CALLULATOR AsYou GO, THE PROGRESSWE 6@
ANSWERS AND THE LETTERS pEXT 0 THEM
GVES THE PUZZLE ANSWER CODE, =

e

8-8376609

RATANN

square

(111

X 0B

D

LAV
= 05

2562 | 8067 | 665 | 89775 B | 8967 | 51258|8907758] 144 | 8977?5]| 78-10425| B

P 89775 3) 5 8-977b &1 12 1-44 5 2B | 898%7H

84 {2l12|25]|144 | 1526 | 89775 | B | 166 | 89775 | 8 | 8967 | 84

25 1 865 139-4 21 26-6R 25 1526 44-838

864 | 3562 | 1394 | 865 | 25 | RB6R | 864 | 78104R8 | 144 | B
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FIND TME QUANTITIES INDICATED
BELOW USING YOUA CALCULATOR.
THE LETTER WITH EACH OUESTION
AND IT§ ANSWER GIVES THE
PUIZLE ANSWER CODE,

7% of $341

45% of 1400 m

64% of 760 g

36% of $127

75% of 632 m

125% of 356 g

300% of 37 m

586% of $160

8% of $860

80% of 64375 g

im 228 $6BE0 39247 $30m

4454 118q $3948 §3948

19% of 1200 g

87-8B% of 836 m

28-2% of $140

8-5% of 4000 g

14 %489 $9L07 2060 $88 Si5g

4809 1184 43948 S48 1184 im

—

©IHDIIEIEIGIDEIE

630m 618y 6580 468a $45TL 5154 $3948 §3848 $91.67

Mes $A1-97 46880
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Lt

v

M it

[y

e

kg

i

Use your calculator to answer the questions given.

The letters next to some questions and their answers gives part of the puzzle code.
Where there is no letter given the last digit in your answer turned upside down
(on your calculator display) gives a letter and this is coded with the number

beside the question.

(83 + 5O7) X 88

[(0-22 + 0-011 -~ 418) + B-R87®

16 X (4536 + 6-48 — 25-128)

166 ~ 093 + 57 x 11

700 x 0035 + 98

V2098 — 817-56

V70 — 29239

(0-36B + 156385) X 188 + 4

(1821 X 8 + 135-2)%

V0358 — 15-500848

8167 — 386 X 182

8% X 36 + 1947 + 05

682 + 13-B9 + 726

0:02 X BOO X &8 — &1
638

488 4 15 8-18 i

819 8301 B

0-25 4 18 3 7025 82-7

93234 | 3 | 3 | 4 15 | 3R1-18
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An instrument that
measures time

giving the puzzle code.

Join the dots beside egual sets. Each line will pass through a number and letter

(1,2,3) & ® {3}

®

{5,5,8} e

{4,7, 4} e

e {1}

w850

{2,4,86) @

Baase
* {3,2,0)

{4,8,4,8,8} e

& {0, 1, 5}
'

{6,5}) e
©

e {1,1,1}

&

® {4, 2R, 8}

® {0,0,8,%, 3}

@ {By ls 5! 8; la 2‘}
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d@ be@@ he
the vies?

Jracula hwe

For each of the sets given, determine their complement, The lettered name for
each set and its complement gives the puzzle code.

{4, 5, 8}

= {8, 4,5,6,8, 9}

S,: T":

e = {5,10,18, ..., 30, 35} M = (2 8,5,7)

E = {10, 0, 30} e = {1,283 4,5,86,7 8,9}
B = M =

{4, 5,9, 10}

{1,3,5, 7,9} [{7,8}|{7 8}

{1,3,5,7, 9}

{7,8} | {3,8,9}

(1,2 9} | {5, 15, 25, 35}

{1,3,8,7, 9}

{1, 4, 8,8, 9}

{1, B, 9}

(5,18, 28, 35}| {7,8} | {1,5,9}

(© Longman Cheshire 1989 Permission is granted for this page to be photosopied for non-commercial classroom use,




What did one calendar
$ay o m@ other calendar?

. JARTCH UP THE MUMBERED 5878 wma THE
APPROPRIATE LETTERED VENN AGRAM. THE
NUMBERS AND CORRESPONDGING LETTERS

g}ws Teg PUZZLE CODE, .

(1) e=1{1,254,5C={1,8} R ={4,5)
(®e=1{246,89 M= {26} N=1{68)
(8)c£=1{5,4,5,6,7,89} M= {3,579 R=1{53456)8 = (80
() e=1{1,8,5,4,58)C= {1} M = {1, 3, 5}
(B)e=1{2557"M=0N= () |

e={24,6,8, 10,12,14} C = {8,4,8) M = {12, 14} N = {8, 12, 6}
() e={(7.8,9 R={7.9)8=(8,9)

(8) e=1{2557 M= {357 N=(2355)

e= {5,4,56,7 89 M= {35} N={789}R = {47}
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Find the answers to the set questions
\ at the bottom of the page, and place

the letter for sach next to the question. 3
' These letters will spell out the solutions.

{4}y U {1,8,38} =

{o} U {b, ¢} =

(1,23} U {38 4} = {pink, red, grey} N {blue, red} =

{&,b,O}ﬂ{a,e,i}z {1,2,3...9}ﬂ{0, 1,3,5, 10}=

(1,2,3,...10} N {0, 1,2, 3,4} = {8,1,8} U {5,3} =

{bat, ball} U {ball, bell} = {a, &1, 0,u} N {a, ¢ 6,1} =

{bell} U {vall, bat} = {b,c,d e} U {c,d e} =

{blue, red} N {green, red} = {bat, ball} N {bell} =

(2,5,4,5} N {1,8,4,86} = {red} U @ =

{a1 b) O} m {by c: d} - {1’ 2’ 5’ 4’ 5} n {’?' 57 8’ l} =

{red, blue} N {pink, blue, red} = {1,8)U {31} =

(3,4} U {2,3} U {1,8} = (e,i} U {3, 3,8} =

{b, 4,1} U {ce} =

{bug, ball, bag, bell} N {bat, bell, ball} =

{bell} U {bat} U {ball} =
{bat, ball, bell} = R
{ +U{red} =
{4,8} U {8} = | {a} =
{3,4} =W : {a,e,1} =1 {blue, red} = P
" @=D (1,23, 4} = A (1,3,8) =G
{b,c} =8 {v,c,4,e 1} =E {red} = O

@© Longman Cheshire 1989 Permission is granted for this pags {0 be photocopied for non-commetcial classroom use.



Why are life
rafts always

happy?

Answer the sums given to find the puzzle answer cods.

$127 56 kg Z hr 20 min
$385 137 kg 2hr 18 min
$416 84 kg + 5hr 47 min
+ $263 930 kg I _
_ 64 kg
- + 873 kg
- 516 kg
15 min 275 kg
2nhr 31 min + 814 kg
+ 5 hr B2 min _
B $213
$ 98
$175
+ $307 $347
333 kg $269
109 kg o $416
+ 216 kg + $585
4hr 17 min
5nhr 38 min
+ 3hr B2 min 52 min
_ 3 hr 47 min
+ 4 hr 58 min
987 kg
361 kg 54 kg $630
893 kg 136 kg $712
+ 749 kg + 2B8 kg + $483

8 hr 38 min

9 hr 37 min | 1544 kg | 1605 kg

$1403 | 1544 kg | 2003 kg | 1544 kg

$1817

9 hr 37 min | $1191{ 2003 kg | 1544 kg

8 hr 38 min |9 hr 37 min | $1191

8 hr 38 min

$791 |11 hr 25 min | $1403

1435 kg

11 hr 25 min | $1403

658 kg

13 nr

$1825

47 min | 1544 kg | 1544 kg

11 hr 238 min

$1403 | 658 kg
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To find the picture, join the
dots {(next to the answers

to the questions) in the

order given in each block below.

&85 2 B8
& e 49
75 . N
o 45 '
N 18 79 18° e
59
e B3 eqg . a8 Bdg 929 oy sleLd
591 @20 é ® 69@ 919
® [ @
I O T T
e
2 30 15 283 T7e
&
239 Rle o4l PV
%5
gy e 253
88 40 108 Ta 41 Ugs) 11% 212
— 47 - 37 - B3 — 33 R 45] - B — 8¢ - 50
15 85 a4 91 154 43 91 70
- 9 - B8 - 59 — 88 — 104 — 24 -~ B4 - 11
81 54 rd 75 88 13 108 LARGE
w40 - 39 - 16 - 11 — 19 — 8 - 37 DOTS
AT
54
107 32 134 83 92 a0 7a ' _ a9
-~ B4 — 26 ~ 36 — B4 — 15 - 18 — 82
and
75 34 867 107 78 Ta 110 657
- 8 — 24 — BY - 83 — 34 - 8 — 80 - 26
a6 51 118 ‘ 125 87 83 54 "
— 18 — 24 - 76 — 109 — 14 - 4 — 26 COLOUR
THIS
REGION
99 100 Tl a7 92 62 a4 BLACK
— 63 I A d - 4 — 32 - 29 - 17 - 18
Fan
COLOUR
83 87 83 109 58 24 45 THESHE
- 79 — 12 - B9 - 30 - 17 - 76 - 9 REGIONS
GREY
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teacher does
itations .
{ ANSWER THE PRODUCT QUESTIONS
To DISCOVER THE PUZILE COBE., %

16 042 |18 786 | 3800 | 5546 | 4888 | 9144 |13 11012 798| 3800 |16 042

#

12 081] 3800 | 7917 | 6300 | 2680 | 3800 | 4588 |12 798| 4588 | bb46 | 2580

82 138 38 X 100
x 74 X 85
487 43 X 860 S1
X 28 x 87
103 70 x 80 1234
X 117 X 13
584 59
X B8 X G4
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7
00 + 1000

(o

556 e _
(=

5)8965

146 e

321 @
2 g1

@ 74

4:,11 121 8 |11

10 12 | 13 I 12 &2 14 1 15 2 i6 | 1%

10 | 18 1 4
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Answer the fraction questions below,

to discover the puzzle code.

Rt a" a
6 — 2;2— = b
22 + 1% +2= d
e
g
h
a2+ 412 = E
n
r
4% — z?% = _ S
fg
5-2} + 2% - 42 = Vv
8- 2> — 1z
- = 52 5 |%as |z 22 1980 |4
e 12 153 |5 |15 63 5% 12 5,
T | SC B k- N - S =N = N EP-S P
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i s s

RS

e RS

8 1 51
4™ 15 C 1z X Rg
1, 1 11 2

E 85 + 83 5 X3 § 8% 13
1.
4z + 2
2. ,4% S 2
5 6 4 3 5 .4

T 56_5 11X3§X34 16?-5?

1 3 1 )1 5 12 |.L

85 Tﬁ 5 (%2 |6 |28 |s v 13 '3 s

1 1 3 1 I .1 2 2

% 1% |5 %2 1z 1% |% |s |5 lss |5

] 11 18 L |8 |2 2 |s

205 "8 %8 1% s (68 |» Iz [6 |5 |5
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octor, I've got this
e feelin =
yelll

sirang

Answer the questions to find the code.

v6g|309g|914m|309g|914m|105 g

0713 g|80:48|0-713 g|111-1 m|9-14 m|R15 g|0-713 g|9-14 m|9-14 m|0-713 g

$15-88{$8676|3:09 g|$15-88

105 g[0713 g|111-1 m|$048|9-14 m |$573| 384 m

6:08 m|$0-481$71-22($31-98|38-4 m [$71-2R|$71-22|38-4 m |$5-73|10-5 g(6-08 m

1141 /185 m {1141 g|111-1 m |$0-48|$5-73|$71-22|60-84 m |$048| $86-76

10565 |$8133|384m|[2165g!384m 11418 |$573|105 g | 608 m [$8676

$2-35 $5-43 031l g 1574 m
— $1-87 $2-08 056 g - 463 m
' $6-57 078 g
+ $1-80 0-09 g X
+135g

$615-60
- 207 g - $54438
316g 1-593 m =
428 g 0-076 m
Slm +192 g 248 m
5-8m Z + 19031 m 5373 g
+98m 456 ¢

0-54 m
1-88 m $26-57
$12-65 263 m $19-38 1531 m
- $ 6892 + 409 m $54-28 1274 m
Y + $32-79 896 m
+ 8383 m
$1-34
_ ?gg g $2-16 813¢g
—_— = $5-80 156 g
$6-27 507 g $34,18
$3-91 144 g $20
1073 m $7-48 20 g $18-85
— 889 m + $5-08 + 328 g + $13-83
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Solve the decimal problems to find the puzzle code.
0134 X 100 = 213+ 10 =
19-5 ‘ 087 x 30
X 286 6)51-42 =
{776 + 40
= 7)50-82
0-218 250 B
X 45 X 48 X 59
0-1884 + 12 87-8
= X b
) R
o128 X 09 11067 =+ 70
@
694 13-4 | 2183 81 0187 | 2183 | 0-108 | 7-R6 439 726
098110981 BOY | 134 | 0881 (0S8l | 1881 ) 664 | 8587 | 813 | 439
134 {2185 | 807 | 684 120 i34 | 2183 | 134 81 887 | 439
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Young man,

stick mas

Join the dots next 1o the equivalent decimals and fractions. Bach

line will pass through a letter and number giving the puzzle code. - T

076 = ®

&

018 =

o7 - @ .
-
175 = ® ‘g 1 . ® é%
0B = ° @ @ @ ® g
0375 = @ N ® l%
_ | .. . 19
235 - L . | | 'é“s—
- ®
0FIARES = o S ° 13
' Y 4
048 = & 1 G o 5
7
0875 = @ ® 2%
1 R @ 3 4 B 8 e 5 4 2 1
4 8 9 9 1 10 9 11 2 12 9
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Fxpless e valies
cjinent below, Accurote. to
3 declwal plAces, to
dAiscover the plezle. code.
2828 | 2167 | v6v3 | 5162 1-286 2646 | 1667
VB3 1-667 3464 | 6283 | 5434 331V 1538 | 2-828
1732 | 5434 4047 | 4047 | 3142 | 2167 veY3 | 3162
N 609 X 0-126 VE =
woe= 20 _
VI = 18
9_ VE =
7
13
2 =
V10 = S _
5
VIZ =
637 X 0-853
/I ==
8% + 218
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( From the table tennis bat sales given in the table below, complete the line graph.)
" The line passes through 10 letters and gives the name required.

MAY
DAY 1st 2nd | 3rd | 4th | 5th | 8th | 7th | 8th | Sth | 10th|11th

Number of
bats sold
per day ab = 4 3 11 =) 12 7 7 2 0 10
Ron'’s Sports
Store.

el
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In the puzzle answer at the bottom of the page, convert the amount given to the

equivalent amount in the other currency. Locate this new value in the letter code
column o discover the puzzle answer.

CONVERSION GRAPH
$ AUSTRALIAN DOLLARS — LETTER CODE
& PARADISE POUNDS.
£2-50
£
o $24
14 7
13 ; $2
e $12.80
11
: $0-80
10
o &7
8 $3-20
¥ $8
7
© . E 21375
85
: £12
4 P
$6 ,
S £1250
2
/ £14
l .
0 £10
0 2 4 8 8 1012 14 16 18 20 22 24 $
£9
$1-80

£B| $16 $4 £5 |$R0|&B($16|&8} £ $4 [$11230} &£B |616|&£8

£$15($19-20|$19-80|&£125|$23 |£8|£15]| £2|$2R-40| £3-76| £0-50 [$14-40| £8 |BR0
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Answer the questions from the water skiing travel graph to find the puzzle code

DISTH R

ond

1
i B Ll

FROMTT

HOUSEBQA

i)
o4
=

(]

3000

28000

1000

How far from the houseboat did
Brian sgki?

4 5 8 v

bt

TIME
(minutes)

Brian fell off in the middle of his
run. How long did he wait before
starting again?

How long after the start did he
turn around to come back to the
houseboat?

How fast, in metres per minute,
was Brian travelling in the first
2 minutes?

How many minutes did Brian
actually spend skiing?

How long did the complete trip
take?

How fast was Brian skiing in the
last return part of his run?

How far from the houseboat was
he, 5} minutes after the start?

How far from the houseboat was
Brian 23 minutes before he

How far did Brian ski in the last
S50 seconds of his trip?

returned?
1500 1000
m.p. Min 1800 m 780 m 83 min 15 min mM.p. min
41 min 6% min 1500 m 3000 m 5 min 2500 m
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Complete the frequency table and the histogram

from the data given on the number of games
of table tennis played by children at a holiday
camp. Follow the instructions beside the table
and graph to find the code.

NUMBER OF GAMES OF Frequency Table re quy
TABLE TENNIS PLAYED Number of | Tally |Frequency| | gives the

BY EACE CHILD AT THE CAMP
: games played

13 11 18 18 13 10
10 16 12 11 18 11
15 12 183 16 14 12
14 11 10 12 18 13 -~ |

12 16 14 18 i2 14
16 18 18 11 1B 15 —
13 11 15 18 13 16 |
Total
HISTOGRAM
GAMES OF TABLE TENWIS PLAYED d b
: CODE
Frequency E I& LETTERS |
8 35 . Y,
a8
» 18 33 3 18 5] 15
Shade in
5] 5 18 5& 4 R & the columns
5 18 28 24 14 1 12 and match
the numbear
4 41 3 13 7 2 2 7 on $0p of
= 19 2 2] 5 20 82 6 gach with
the code
2 X 16 1l S 5 RS 4 letter above
L g 15 6 18 18 8 8 it
o 3] 0 a7 26 7 14 3 Games
10 11 12 13 14 iB 16 played
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/hat's the difference

beitween a can of tuna
and a piano?

2 above|B below|3 above 8 above|ll below 3 above
6 |—17] 18 —4 —10 14 -7 —5 8 —20| -14
3 above B below |6 above |6 below 5 below 13 aboveil3 below
10 10 5] 9 -3 8 2 —13 -1 9 —-18

8 above 8 below|4 below |3 above 4 gbhove 5 above |6 below |9 above
14 4 19 —8 -19 1 —12 | 9 8] B -2 —8

Locate the positions given above, on the number line, and replace the positions
with the letters found to discover the puzzle angwer.

NEGATIVE POSITIVE
-0 20
YE px-1® -1 ) C

‘ - 19
21 A 1 U
Ur-s c K? 18- W
4 w
B 1N
At 16-- R
L, 3 15
Y-Ls . 1l
§ 7 134 p
8 12 v
9 40 1
A '
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the answer to the puzzle.

Answer the questions given to decode the first message, and then use it to find

zl13|12i—10{-7|13}-6|0|~19|-6|-9|-7|13| -8|~6|6]|-10{ 1|1 |-10{-8|-4
g|-1|1|9|-10|-19|6|16|9|-19|5|-10|1{-7|18]|-6|-10 _19|-11|9|13| -7
8+ "5 = = E = "1B + 238 =
3+ t9 = = L =2+ 3+ 9=
Y+ t9 = = =B+ "4+ 1=
-2 + "B = = F =16+ "2+ 5=
4+ 7 = = ="5+ 20 + 8 =
18 4+ T3 = =72+ "3+ "9 =
B+ 6= = 80 +9+ 2= -
84 T4 = =B+ 7+ 2=
B4 2= ~ = % +30+ 18 =
9 + *10 = = ="1+ R+ 3=
6+ 6= = =8+ 9+2=
16 | -9 |19 | 13 | —10 | —11 | —14 | 13 o |- -3
Fea 9 | o|-5i-18| 9 {-10f16 | 18 |-19| ~1{ -9 |-19| 1 —13
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Answer the questions
given and join the dots
next to the answers, in
the order given in each
9_ 8=
e 15 _%0 8
—8e @ 55 "2 - B =
8
15—~ 7 =
)
3~ 8=
/ °° RO- 7=
14° 5
-1
—18e 10 5 . -t =
-2l 22
19 . < 17 - 3 =
—14 : *3 8 17 x .
: 12 z 11 @ 40 — 730 =
2 ®
® Y50 — B =
-3 P
A — 5 =
COLOUER 0-"8=
2 -1 - 16 =
4 - *2 = T —-"8= YELLOW
; ; & R-T=
I - = 5-—-"=
R & GREEN 9 - *+§ =
B — "4 = 17 — 4 = el
*18 — "1 =
8 - -3 = 12 - "4 = BLACK
- L4 5— '8 =
B-1= R — "1 = ORANGE -
“10 — T30 =
T2R— 8B = 8- 13 = 25 — -5 =
9~ B = 6l — '8 = “l2 — 4 =
85— 30 =
"1l - 7= 10 - T1iY =
I — 15 =
B— T4 = 12 - 2 =
B8 - Y =
53— "1l =
"8l - "% = Rl - 2=
“18 — 8 = 1 — 80 = 12 — '3 =
oty = T —="10= RS — T4 =
8- 78 = 13 - 7B = “18 — 12 =
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In the coded answer, exchange the bosition coordinates with
the letter found at each position on the grid.

(=1, 8) (R -1)(=8, -3)(3,4) (-3, 3)

(_21 _l)(4: l) (11 S) (41 - 3) (ls _2)

]
-

(=L2)ER) (=5, 1) (-1, ~2) (3, ~1)(-8,4) (4, ~1)(B, - 1)

(4, ~8) (8,2)(~1, ~8) (4, ~1) (R, ~4) (=5, 8)(4, 1) (5, 4) (3, 4) (1, —2)

(4’! _l) (l’ 3) (isv l) (_31 l) (Msi l)

(=%, 1) (-L-8) (3,4 (=33 (1,0)

(4, — 1) (1,3) (-3, l?§ @&, -1 (-2 49

(2’ _4) (—&, _l) (Or _8) (—38, 1)
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Join the positions in the order given.
Stop your line at a full stop @, and

start a new line from the next position.

=4

=)
0%

B

R
Ly

=)

(=9, 14) — (—8,18) » (—4, 15) — (=2, 15) ® (4, 8) — (5, 9) — (5, 18) —» (7, 14) — (8, 18) — (8,10) & (=7, 14)
— (~7.16) = (~5,18) — (—5,18) — (—7,16) ® (1,18) —» (8, 14) ® (6,11} — (—6, 18) — (-4, 13) # (5, ~16) —
= (B, —18) — (B, —11) ~ (7, —9) — (3, —6) — (11, —2) — (11,4) — (8,10) — (B, 18} — (5, 14} ~ (3, 14) — (5, 123) —
— (B, 10) — {2,9) > (1,9) = (1,18) — (=3, L1} = (—1, 11} — (—3, 10} = (—5,8) = (—53,9) = {—1,8) = (0,8) —
— (=2,8) = (=4,0) = (8, 8) — (0, 1) = (5, 1) = (&, 0) = (5,0) > (4 —1) — (7, —2) = (8, ~B) — (7, —4) —
— (B, ~4) —= (7, —8) = (B, ~B) — (B8, —8) — (B, —7) — (4, —9) — (4, ~8) = (2, —11) = (2, —10) — (1, —11) —
—(0,~18)— (0, ~18) @ (—11,14) > (—13,12) — {—13,18) — {—11, 18) ® (=9, ~15) — (~7, ~14) — (5, —18) —

o (=B, ~11) = (=7, —9) = (=B, =) — (=B, —=B) = (=7, —4) = (=9, =2} — (—10,1) — (—18, 1) — (—12, —2) —
e (=11, =13 = (—10,1) — (=9,3) = (=7, 6) — (—B,B) ® (—4,11) — (=6, 18) — (=6, 13) ¢ (=9, 0) — (—6,0) —
= (B, 1) = (=4 3) o (~5,8) = (—4,6) > (=5,8) > (=7, 4) > (~8,8) > (—8,0) 8 (~9,15) — {9, 11} =

e (=10, 117 — (=10, 13) & (—6, 5) — (=5, 4) — (=5, 3) — (=6, 1) — (=7, 1} — (=7, B) — (—86, &) — (=5, 4) —

- (~4,3) 8 (=7, =7) = (~9, ~8) = {—11, —8) — (—18, —R) @ (—8, 11) — (=8, 18) — (~7, 11} — (=7, 13)
(=3, —11) — (—1,~11) ® (—10, 16} — (=10, 15) — (—8, 1B) — (—9, 18) # (=11, 117 — (~13,13) — (~18, 18) —
— (—13,18) — (=18, 11) ® (—6,0) = (-8, 0} ® (-8, 16) - (=8, 14) @ (10, 14) — (10, 15) @

The region The region
around (5, 6) around (—6, &)
and (7, 12) and (—11,0)
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i yvou hear about
the plastic surgeon?
Answer the questions to discover the puzzle code.
6 X "3 = BX Y =
L ovg 08 X “25
3 X '8 —
BxTaxTR -12 % -10
- 2
20 x 710 x 003 O X T3 X2
1. 04 X *28
—83 X B8 = _
"=1><+8><‘3><*'4><‘5 *50)(%:
2X B x 3
24 | -4 -15[-18 [ 30 | 16|20 | -8 -120] -1 20|30} —-11-2
0|24 |4 2|15 |—-180|—-4{-181 20|14 |B4|—-4|-68|30i—-41}14
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Who is the only Captain of 3
Australia never to have A
played at the M.C.G

Answer the questions given, and exchange the answers at the bottom of the
page for the letter next to the guestions.

26 - B

=72+ "9

= "180 + *6

 _ =66
-5

= "84 = "14

840 + 8

(100 + 4) + *'B

=408 + 77

160 ~ 16

~30 —& -5 13

18

-58 | ~20 -9 -8

10

© Longman Cheshire 1989 Permission is granted for this page to ba photocopied for non-commercial classsoom use.
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.‘T,};ﬂ e

|

2 (J
i o ONTHELEFT <&
X OF THE PAGE, Tom THE BOT NEXTT0 EACH =
Y- GUESTION TO THE DOT NEXT TO ITS ANGWER °
- ON THE RIGHT, EACH LINE PASSES THROUGH

A NUMBER AND LETTER GIVNG THE COOE,

("3)Fx 2= &

12 - 3+ 8= ®

4 X8+ 2= e e 24
B+T -3 = ® e "13
R4+ (4-72) = e @ 20

e w
B+ 75— "4+ 5= o e 18
30+ (B xR) = ® ' e 12
- ®

W —-86= ® & 2
18+ 1)l - 18 = @ & "
(17 +78) + "3 = @ ® *19
11 - "44+79-8= @ 2 3
X B3 X 4= ® e 718
48 -4+ T = ® e T4
(3~-"11) —(8—-7) = ® o 5
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hat do yo caiH
robbers? g7 R

Simplify the expressions below to discover the puzzle answer code.

/2a+5a,—4a

6 xXb+2

N
3b + 8 + 4D 10a — 2 —7a + 5 BXm-—-3X7
-
[ 18xc 5Xaxb+ 2ab 3m + 8m — 5m
3

3b — 8b + 10b

Z

Bab — 7ab + 3ab

\

2ab 5b 2m — 21 5b 2m — 21 7a 5¢
7ab B¢ 6m. &m —~ 81 3b Be sm — 21 2m — 31 5S¢ 1Cc

5ab Sb Bab 7a 6 — Bm 7ab 5c

3a + 3 7a a 2c b+ B 6 — Bm 10c¢
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liscover the title
f this picture

In the expressions below expand the
brackets, and where possible, simplify
to find the puzzle answer code,

= 3(2a — 4)

I

a(b + B)

= B(b + ) — 2b

— 8

= B(a — 2) — 2a + 13

]

7(3 + 2¢) — 12

It

2(a + 2b) + 3(a — b)

T(a— 2)

= 6(2a + V) — 35

=3(b + 4) + 2(2b — 9)

= B(8b — 3) + 2(b + B)

8c + 2(6 — 3c) — ¥

= 10c + 5 + B(2c — 2)

8(c + B) + B(4 + 2¢)

2 +5|8Ba+b| 2+ 10| 6a —- 12

16¢c — 1

ldc + 8 | 20c + 36

3b + 4

Th — B6{3b + 4|14c + 9|Pa ~ 14]11b + 4

2b + 10

16c — 1|12a + %

3b + 4

53 + 3
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gas lighters?

players given

= 5(3 — 2b) — 2(4 — D)

= 7(Ra — 1) — 9a

= —4(2 — e)

=16 — 5(b + 3)

= Ba + 7b — 2(2a + b)

S

=3(a—Db+4) —20b+ 1)

=12(c + 3) — P(c — 2)

: =

= 4(3 - 3a) — B(R — 3a)

= 6e —2(5 + %) + 11

—{(8& —3a)— (B&a — 11)

:

e Byt B

4 - B1B8a—~5b+ 10|88 +1jc—82|Te—3|8

%a — 8b+ 10 8a — 7| a+ 5b

3a — Bb + 10|3a + 8la + 34b+ 7| 8 |Ba - 7

c—2|a+ 3|a+ 3|Ba— 7|a+ Bb

%a — Bb + 10{1 — Bb|3c + 1{B¢c + 80jc — 2

Ba — 7

2e + lja + Bb|3a — 5b + 10| 8
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Simplify the expressions given, leaving your answer in index form.
Each answer and letter beside the question gives the puzzle code.

b all a® 18a°5p°

10L°% | 123%*p°

18a%0®

18a%n°

a™" | 6b'* [18a°p5| 18Be% | e°

B8e”

a” | 10b° [18a%p®

1Be*

@ -

exXexexXexexe a® x af
b X b® x bt a® x a%p®
- i
2e% x Be® a* x a X a®
Bb® x b X b 2b* x 3a’ x 3ab

a X a xa®xXaxa®

3e® X Be X e

2b% x b® x 3b®

2ab X 3a% x 208
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the fish cross the

SIMBLIEY THE EXPRESSIONS GIVEN, LEAVING YoUR
ANSWERS iV INDEX /RM To DISCOVER TNE Pu2ILE CoDE

A
D
B
G
. 24c'® = 4067
qH
\ &) cxXxeXegXeXe
\ 36b° x 1° exXexe
T 9b® x 2b*
G6elt] 2ef | o® | Ba® | 3% | 46 | Ref | 20 | 4eRf | Ba” | 4a° | Qef | 4e?F

46°f | Ba” |4e™f [BcM' | Bef | Ba” | 463 | Bett| 2ef | b® |4ePf| 2b% | 267 | 2ef

© Longman Cheshire 1989 Parmission is granted for this page to be photocopied for non-cammerciat classroom use.
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g

Bx" =

chmkens waitin g |

12 — 8b° =

a’c®h® =

u mﬂ

21e% + 3o’ =

15 -7y + 1=

line of

& 3

® 7

& 81

24mn®p _ ® ® 5
3mnp

4a° + 7b° = ® ® 6f'°j

—8e° _ ® e 11

—411°

12f7a + 2f% = & e of

2a’ + 3b° — 4c¢° = @ ® 41

8xf + 2x° = ® @ 9
112|384 6|7 |8 gl8|6|921}10|11 11| 6 g
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EXPAND THE BRACKETS FOUND BELOW,
Jow THE DoT NEXT To EACH QUESTION
To THE DOT NEXT TO (T5 ANSWER FOUND
SOMEWHERE ON THE PAGE, EACH LINE

PAGSES THROUGH A NUMBER AND LETTER
GiviNG THE Pu22LE ANSWER (oD,

@© l.ongman Cheshire 1989 Permission is granted for this page to be photocopled for non-commercial classroom use.
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¥Expand the brackets and simplify the expressions.
Bach answer and the letter beside the question
gives the puzzle answer code,

2(BX + 1) + 4(x — 2)

SE-m +3Ry —4)

7(e — B) + e(e — 6)

X(x + 6) — 3(x + 6)

~3(4 — RBy) + By + 3)

H

7(Be — 3)— (Be — 9)

x*(x — 3) + 8x(x — 1)

Y@ -y + 31—y

2e + 1) — 3(e + 2) + 4(e + &)

i

16(2x — 3) — 3(10x — 17)

—8Fy +2) - (B -6y

Re(e + 3) — a(e + 6)

Be—~ 12 | 3¢ +8 | e® + e~ 35 e® | y+3 | lly+ 3 10x — 6
—y° + 3 1ly + B e +e—35 | Be+8 | Be+8 | By~ 11| €&
2x + B3 1% +3x—-18|ef | 3qx+3 ] x° —x*-2x |8 +8|ef] x°-%%-2x
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Find the value of
the expressions
below. Locate the
dot next to sach
answer and join
them in the order
given in each

block. Start a new
line for sach

block of expressions.

—20n=

-1
l% @ —18e
25
R5e
_9ﬁ
)i¢
COLOUR
BLACK

® 3
Yo
1 27
] &
4 s 7
-] E)
i
2 30
L] & —
8 48 ®
[
13

!

Ba -7 =
Sb — 4o =
g — Bf =
abe =
- 2bf + 20 =
f* +a =

—_ =
7c + Bb =
B 4(af + 8) =
2a 276 — bR =
30 — Bac =
- . 5(a+e)— 18 =
(4a — b)® =

5 — bf =
a(c — b)) =

Tb+e)+1=
b - af = —(e—a)*=
—f® = a+b+tct+e=
(be — 2af)® = af - 2b— 2 =
Ba® = b+f=

© Longman Chestire 1989 Permissicn is granted for this page to be photocopied for non-commetrsial classroom use.
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oy ’ Py
1 of bounds*
f; :
Simplify the expressions below. The answer to sach and the letter beside it gives
the puzzle answer code.
4a b 12b°%  a®
b 2~ Ba  6b
Ge « T R0a® | 10a
f " 2e 3 2]
18ac . 5a 7ab  Bc®
4 B 8¢ 14ab
.,b  4a R0e*b® | Beb®
a 6" 1 3a  Bad
14.a°b 4 .
3 Pab <b = 5ab
| Ra, 10ab® 2 40 3 5
ac
s 4 Ra {b 6a, Ra, 4a® 8abe 8abe

@© Lengman Cheshire 1989 Permission is granted for this page to be photocopled for non-commercial clagsroon: use,




Qg went into the
f circus?

Simplify the expressions L
below to find the puzzle answer code.

'hat happened when the

Bx + &2 e + 4 3e + 4 Bx + & 13a -~ 4 248 + 35
8 4 4 B8 24 10
_gmlm ~2£ &4a + 35 4e + 1 —8; 5X + 4
8 5 10 ' 4 5] 6
X4+ 1 a  Ba—=2a
2t 3 L 8t 12
da+1 B - Ba
e—2 3+e 2 " 3
4 2 -
4x+8 x+2
3 2
Ba + %7 Ba _
2 B B
3 Re -1
st 3
e+3 e+ B =
2 B
= 2a ., 3a = bBa
5 T4ty
X+2+X;S
- 8}{-3_X+5
5] 3
8x 2x
4 3 Se+l+89+2
= 2 6
3x + 1 478 4e + 1 47a 7 Tx Se + 4
2 12 4 12 a8 12 4
478 e + 238 |Be + 4 4e + 1 7e + 39 |7 2le +5
i2 12 4 4 12 8 6
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Solve the eguations and
locate the answer on the

Number line
- A — number line. The letter
X+ 7= at that position and the

I410C guestion number gives the
puzzle code.
R49
C+8 .
' +5=5
047 13x = 26 X+5
Y +6
D+ 5
544
G ' x+8=1
2=t
A+ 2
KE+1
L+0
4dx = 20
T+ -1
M —= Bx = —87
B+-3
e -3
5=
F+ -5
U+ -6
N4+ —-v X—7=-3
rl g c— 18 =-4
W -9
H~+-10
1 & 3 4 5] 8 7 8 1 10
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What did the elephant do

hen it was being chased

by a herd of wﬁmm
SoLYE THE EQUATIONS TD * :
EIND THE PUZZLE CODE.
._,‘g
28— 5 = c+2 d~2+8=
=3
3
2(e — 5) = 14 Bg + 8 = 13 %+6_10
v+ Bk = 25 6+L_, 1lm — 22 =0
=
—6n = —18 Br — 24 = 0 | 1B+8+2=18
n= P = g =
Bt - 21 = 12 Bu + 15 =3 v— 5
= -5
2
} o= U = v =
16l12la |5 l4aliz|sl11|{sl-2lsis|7!5lolel|lsls!a
g lia|l-s6lia)a|10l12]| 4 |11l18l12] v {8l 5|8l 31 |12
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8(6n — 4) — 20 = ~4

2a + 7
13 !
n =
- nh—4
a = —
5 t4=
22 + 8y = 20
3
h e
d =
Be+8)—3=9
43t — 7). = —B2
g =
t o=
L iy gzi'il?_é:i
(Z-F'?)Mr =1
L: p:
3 12 -6 12 -8 -8 —8 5 10 3 1 -2
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band of musical chicken

I

Ba + 7 =8a -2 3c —&2=¢-—10

2e+3)=e6+5 12420 —3=5h+1+h

—2q+3=8q—7 B(r — 2) = B( + 4)

B(B—1t)+4=2t—6) - 3(8 — 28) = 8 — 20

Su+3%=91-2u 1 RERwW - B8) = 11(w + 3)

© Longman Cheshire 1888 Permission is grénted for this page to be photocopiad for non-commercial classroom use.



Complete the table of values
for sach equation given below.
Plot the points on the graph,
and complete the straight

line for each equation. Nuinber
the lines with the number
next to sach equation.

numbered lines cross gives
the puzzle code.

@ yo=82% + 1

x||-2|-5|-#]-1] 0|1 ]| 5] |

y=-x

x||-al-s|-8l-1]0]1 |25 4]

The letter appearing where two

SR ERRRRRRR

®«® | D@ | @«® | D&® | D&® | @& | @&®
9.

®e®|®x® | @«® | D&® | @+® | @O | @«©®

De@ | @x® | Q+@ | D@ | Ox® | D@ | @@

©+®|@:® @@ | De® @D | O®|@=®|@«B

@R

@© Longman Cheshire 1982 Permis
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What would happen if
um dropped the
Christmas dinner?

Solve the inequations given. The letter
next to each question and the answer
gives the puzzle answer code. J )

BRx + 1 >3 x-—-7 S(x—2)>9

7+ Bx = 2% 3x + 5 < 20

201

B+x _, X _ g 2(8 + x) > 42

X"‘“2<3 15+§220 4 —2x >0
e 4
1 1 O
6(5 + 2x) > 18 3 +4 < -5 ”2}{{8
8 —
y 8 1
X;15<2 —4x = 8 15%x + 3 > 63

X<23 |z <2 [ x<@|x<b|lxz2-—-18Ix<i89|x>-1|x>18lx=3

x>4£x2~—12 F<B|IX2I3|XCW || X=E -3 X< B |x<2|x<Bb

¥<Blxg=3|x>0lx=238lxsx —-3|lx=2-18x> ~-1llx<I1Qix=E138jx=—12

© Longman Cheshira 1989 Permission is granted for this page to be photocopied for non-commercial classroom use.



i

Find the
picture title!

MEASURE THE 16
ARROWED ANGLES
BELOW, THE LETTER

o

BESIDE EACK AND
(TS SREGVESTHE | D6
PULZLE ANANER o0t) vl
188°1316°1100° | 38° | 83° | 8° |s3s° |2z
8]6"| B53° | 67° | 86° | 122° | 53° [100° | gvo
100°) 2% | 96° | 8° | 77° |316°|100°| 8° |aave




Nhat are Van
trousers?

Determine the values of the lettered angles
below, Thig gives the puzzle answer code.

87° 145° 43° 138° 121° 1g° 74° 138° o5°

145° 183° 74° 5%7° T4° 43° 138° o5° 106° 183°

© tongman Cheshire 1989 Permission is granted for this page to be photocopied far non-commercial classroom use.
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Figure out the size of the lettered angles to discover the puzzle answer code.

L 58° B 112°
4%°
/

53° P

Q ] \_h—m
1850 126
Y
/1/

B1°

180°|68° 125°T&3° 43°|144°112B°190°| 63°| 186° 80°|95°| B1°| 58°| 68°

12%° 51°|80°|43° | 56°1 53°| 53°|43°|51° 40°| 80°| 53°| 56°| 51° 28°| B3°

@ Longman Cheshire 19889 Permission is granted for this page to be photocopied for non-commercial classroom use.




Use only a pencil, ruler and compass to construct the angles indicated on the arms
given. Bach new angle arm will pass through a letter, and this with the angle
gives the code.

‘#/60" 150°\, Y _

S50 o Nas Neoo @

O 2?0°

. 330°
‘/ROOL“ 225°
. ~ N180° 159 X

Z%OQ ggon égo 215.: ‘450 1359 1?099 g%@ﬂ %ou fﬁO“ goa

70" 610" 10" %5 110° 95" 189 15° 157

© Longman Cheshire 1989 Permission is granted for this page ta be photocopied for non-commercial classroom use.
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e N R 1101

i

COLOUR (N THE REGIONS
ZUSING THE CODE GIVEN,
| AiD THE OBTECT WLt

APPEAR

EQUILATERAL TRIANGLES — green SCALENE TRIANGLES — yellow
JSOSCELES TRIANGLES — orange RIGHT TRIANGLES — blue
RIGHT-ANGLED ISOSCELES TRIANGLES — brown

V 3
=
AN

\ %vgé

[
Ao~

< %
NN PAN
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o robots have

rothers?)

Calculate the size of the lettered angles to find the
puzzle code.

25°

135°

87° $ 110°

71°

R_8°

164°

a7

135°

100°

164°

7L

34°

148°

R8°

110°

65°

34°

135°1108°

103°

108°

110°

a8v°

55° 108°

© Longman Cheshire 1989 Parmission is granted for this page 1o be photocopied for non-commercial classroom use.
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Find the value of the lettered angles in the quadrilaterals.
Bach letter and its value gives the puzzle answer cods.

84° S
94°
B83°
94° o1
103°

130°|225°| 7R°| 75°|99°| 33°|R44°| 230°| 46°| 33°| 57| 99° 244°Tl§2°

5o°

130°

103°

© Longman Cheshire 1988 Permission is granted for this page to be photocopied for non-commersial classroom use.




Divide the quantities in the ratios given. The resulting

hy was the chicken
arrested?

amounts and the two letters following give the puzzle code.

Divide $96 in the
ratio 5: 7

and

Divide 117 g in the
ratioc 8: 4

and .

Divide 252 m in
the ratio 5: 16

" and

Divide 296 g in the
ratio 3: 5

and .

Divide 253 m in the
ratio 2:9

8§ and

Divide $112 in the
ratic 6:1

and

Divide 48 m in the
ratio 9: 7

Divide $420 in the
ratio 3: 17

and ¢

Divide 210 g in the
ratic 7: 8

31 m |$40|185 g|81 g|$40 |48 m|B1 |21 m |$63 |81 |27 m | $96 |56 |36 g
111g | 387 | 112g | $56 | 21m | 98g | $63 | 111 | 96 | 192 m
60m | $16|118 g | 207 m |07 m | $56 | $96 | 192 m | 98 g | $56 | 192 m | 36 ¢

© Lengran Cheshire 1983 Permission is granted for this page to be photocapied for hon-commercial classroom use,
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Measure the lettered lengthé on the scale drawings, and use the scale to
determine the lengths on the actual objects. This gives the puzzle answer code.

=

Scale 12:1

Scalel : 8

Scale 1 : RO

£ W‘r— 2

: FREEZER |
-

Scale 1:18

3

_

I T

Seale 1 : 5

5 mm 96 cm 188 cm 15 cm 180 cm | 125 cm

@© Longman Chashire 1889 Permission is granted for this page to be photocopied for non-commercial clagsroom use.




ENLARGE EACH §
[ LETTER SHOWN |
| WA THE |
| CENTAE AND
{ FALTOR GIVEN |

@
7 e 5e *
85 e
® cenire 6
® enlargement
1
factor 5
@ centre 4
@ endargement
factor 3
® centre 1
2 egnlargement
f R
factor 5 |
e centre 7 @ centre B
® enlargement ® enlargement
factor 1;: factor &
® centre 2
% enlargement
factor 2
& centre &
® enlargement
1
factor 2
2 1
2 e =6

© Longman Cheshire 1989 Permission is granted for this page to be photocopiad for non-commercial classroom use.




FROM THE
CENTRE OF THE Coripass
LOCATE THE LETTERS IN
THE DIRECTIONS Grvey \
1K THE ANSWER BLoCK,

Nsa w N35°W
S47°W N12°w
56°W N41°E

© Longman Cheshire 1989 Petmission is granted for this page to be phetocopied for non-commercial ¢lassroom use.




COMYERT Thf PERCENTAGES GNENTO
DECIMALS TO FIND THE PUZZLE
ANSWER Co0g. @ ‘

= 31%

Why do squirrels spend
much time in trees?

a7%

43%

377%

\__.___/I N

260%

341.%
\_ -
38 5 211 1-8 182 [ 211|043 | 097 | 04 | 377 | 04 5 S-41
097 { 005 | 087 5 085|068 | 04 | 097|097 | 04 ] o287 | 077
Co7 | 2111541 10821 04 |0OB810987 0381|211 26 |03l 32 | 341
181082 B 2113411063097 {0-3)110:081 04| B (077|0-43|0-08]097] 1-2
377|211 Q-’?'? 26 |0-97|0-05]063|04|0-92(04| B |211]|3-2|0-43|0-77]0-31{0-85 r

© Longman Cheshire 1283 Permission is granted for this page to be photocopied for non-commercial classroom use.




= 148 = 08
= 078
= 001
1}
29 = ooe
_ = 1
= 05
= = 0B6R
= 27 -
= 207
= 4 _
- 012
- 025
400% | v8% | 145% | 80% Tao'r% 62% 9% 9% ; ’
270%|400% | 25% |100% | 400%| 0% |270% |207%| 80% | 1% | 12%
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creature

the

Answer the questions.
Join the dots found next
10 the answers in the

order given in each block.

Start a new line for each
new block of questions.

10% of 70 =

35% of 300 =

16% of 50 =

¥ Colour in these regions

80% of 3B =

150% of 30 =

2% of 1000 =

75% of 84 =

B% of 20 =

90% of 30 =

53%% of 45 =

12%% of 88 =

20% of 80 =

17% of R0C =

2%% of 40 =

Bla
X
L]
260, 49 =38
Mo e 306
18
@ ©18
Fd e 01l
a4
#1
1200 o 1B
ay ' L34 X
261w
63 20 2105
4Be x ©8 » 189 135
Y B4
3?) = ® 6% Ié‘ ®98
65% of 400 = 15% of 3680 =
28% of 175 = 63% of 300 =
B0% of 140 = 38% of 350 =
95% of 40 = 3% of 200 =
30% of 170 = 20% of 270 =
130% of 200 = B% of 400 =
120% of 100 =
B58% of 450 =
25% of 852 =
7% of 300 =
85% of {00 = o
T8% of 408 =
40% of 40 = 10% of 180 =
53%% of 210 = 50% of BRA =
25% of 756 =
50% of 810 = LARGE DOT AT
900% of 8 = 1% of 400 =

© Longman: Cheshire 1889 Permission s granted for this page 1o be photocopied for non-commercial classroom use.
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Find the whole quantity for the bercentages given below.

The whole quantity and the letter next to each gives the code.
20% is 35 13% is B2 25% is 43
1229% is 15 80% is 44 50% is 37
38% is 84 66%% is 70 78% is 36
5% is 13 46% is 138 . 44% is 181

240 | 300 | 17B | 1RO | 48 | 120 | w74 ?1’?8 400 | 875 | BB 85 | 860
172 300 175 105 178 240 173 400 =ids T4

© Longman Cheshire 1989 Permission is granted for this page to ba photacopied for non-cammercial classroom use.




Why are elephants

wrinkled all over?

The cost price (CP) of a number of items in a
store are given together with the percentage

profit or loss on cost price for each. Calculais
the selling price of each to find the puzzle code.

Clock $17-50

L Football $12 Radio $R20
I Profit 25% Profit 32% Loss 10%
Qars $8
Electric kettle $40 Profit 50% Umbrella $25
Profit 35% Loss 20%
Ink $5
Profit 80%
Tennis racquet $70 Yo-yo $2-50

Profit 30% Profit 74%

Softball glove $36
Profit 75%

Anchor $60 Net $6
Profit 80% Profit 50%
Desk $80
1
Loss 5’?8 %%
Helmet $44
Profit 25% Bat $140
Loss 21%

$110-80 |$54|$15-75|$108{$20|$63 |$54 | $91 [$55|$54|3$4-35[$108| $26-20|$54

$63{$12|$50| $8|$15{$15| $8|$1575|$20|$21{$91 |$01|$12|$8|$26-40{$12| $8

© tongman Cheshire 1989 Permission is granted for this page o be photacopied for non-commercial classroom use,
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Find +he value of the

Hie puzzte codle.

eir h
(ke Hythagorms' Rute. to

leHered Side. in-<ach vight
Triomgle given. This gIveES

d

20 m

15m

2lm

12 m 48 m
14 m
35 I 18 m .
S0 m
24 m 10m
42 m
32 115 |80 B8 134 |39 [ 26110 | &7 | B8 | 85 | 29 l? 13 5 B

@ Lengman Cheshire 1989 Permission is granied for this page to be photocopied for non-commerciat classroom use.




/hat makes the

isa lean?

Tower of

Use Pythagoras’ Rule to calculate the length of the
hypotenuse to 2 decimal places in the triangles
given. Next find the perimeters of the figures. The
letter in each figure and its perimeter gives the
puszzle answer cods.

e

1529 | 1707 | 1424 | 1795 | 1585 | 17R1 | 1852 | 17-07 | 15:58
m m Euss m I m m m m

822 | 1707

@ Longman Cheshire 19688 Permission is granted for this page to be photocopied for non-commercial classroom use.
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fusiciad

Sigaras

Convert the distances given to the equivalent lengths in the units indicated. The
snswer and letter next to each distance gives the puzzle answer code.

200 mm a 200 000 cm 7?0 mm C
= cm = km = cm
1

2 km 3 km ig B 000 000 mm

= m - = km

51 cm 510 mm E 300 cm. s

= Imin = cIm. = m E

3000 m T8 cm E 300 mm

= km = mm = cm

BO0 cm 7000 m 30 cm g

= m = km = mm

2m 7500 cm t Y000 mm

_ o _ — m

1m 2 cm 5 cm

= mIm v = mm = mm
Bkm|30em |2km |80 cm | 7 cm 20 mm |30 cm

Y50 mm 2000 m. B m 75 2000 m 300 mm 200 cm

500m |30 em | 300mm | 2000m |20 cm | P em | 510 mm | 30 cm | 300 1mn
Sm|Bxm{80mm |Yem | 5m 1000mm | Bkm { 800 m | 1000 mm | 7 km
Slem | 5m | Ykm | B0mm i 30 cecm | Yem | Fmid8m | Bkxm | 500 m
S00 mm 7 kim 1000 mm 7 om 1000 mm 7 km 5 kmn 7 m

© Longman Cheshire 1989 Parmission s granted for this page to be phetocapied for non-commercial classroom use.




ackward msery
rhymes

Find the total of alil the lengths in each rectangle below in the units
underlined. The total and the letter in each rectangle give the puzzle

answer code.

ilogm

85 mm | 88l cm | 1307 mm | 18307 mm | 11 em
1680 cm 65 mm 21 km 160 ecm 228 cm 8 km
37 km | 102 m | 28311 m 8 km
AL
2311lm [2311m | &7 m | 14 km
TSB mmT’? m|(8m|b8lcm| i4 km
| 65mm | 21 km | 82 mm | 65 min
8 km 180 em 7 m Sm 581 om 14 km
Blkm | R311lm | 888 cm | 828 em | 2% m | 2311 m
25 mm 2 km L 5m 12000 m
4 em 3lim 81 cm 9 km
3 cm. 80 mm 100000 cin & & m 500 cm 1 m 30 cm
30 mm 8000 m 2000 mm T mm
5 kmn
Tm % 5 cm 56 cm & km
400 cm 12 mm Im 3000 m
18 m 2 cin 40 mm 2000 m
18 cm 56 m &5 ki
180 mnm 3100 cm 6000 m
2m 16 m 8 km

© Longman Cheshire 1889 Permission is granted for this page to be photocopied far non-commercial classroom use.
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PE

Btagalt

Ny

' & apples

170 g

12 bags
of cement

65 tables
126 bricks

T

72 kg

3 coffee mugs

14 calculators

5 car tyres

450 shests
of paper

124
newspapers

175 g

B10 g|714 g|714 g|510 g|112 kg| 189 kg [180 ke| 180 kg |188 kg | 756 kg {180 kg

1008 g

1060 g| 945 g | 1800 g | 1075 g]26 908 {1800 g | 945 g | 665 g | 756 kg

180kg | 26908g | 946g | 1075g | 7l4g | 4680kg

766 kg

© Longman Cheshire 1889 Permission is granted for this page 0 be photocopied for non-commercial ciassraomm use.




hy were the Mi

called the Dark Ages?

7

- P
J ‘/'46 3 . =
/H /2"3 5 O e é’ -_:, 2 .me-.-, % ,
2 Y C o AE T
B ,/'—’ £Ha | f s

Answer the time Questions below to find the puzzle cods.

C

17 min 30 sec 2hr 17 min B2 min B sec
12 min 19 sec X 12 — 16 min B2 sec
+ B min 11 sec

N

5 min 56 sec

— 31 mnin 4% sec

i x 21
_8nr 28 min 5nr 47 min
5hr 36 min (G
Y | +7nr 37 mm
E 2hr 19 min 40 sec
24 min 15 sec Shr 186 min 13 gec
X 8 + 1hr 24 min 7 saec
é u 5)43 min 15 sec
8 min 31 sec I
12 min 20 sec PR
+ 14 min 20 sec B LT O
48 hr 32min - 8 47 min 12 sec 1 hr

32 min - 25 sec

S

13 hr 35 min 40 sec
lhr B34 min B85 sec

5 hr

H

48 min

2hr 31l min S hr 12 min
+ 6 hr &7 min x 7
8 min 27 hr |14 hr |82 hr |15 min 27 min 12 hr
39 sec |17 hriR4 min {46 min{24 min |25 sec |17 hr |35 min |35 sec |17 hr|45 sec
3 hr 12 hr 1B min|33 mini8 hr (14 hr |35 min|8 hr

17 hr!|14 min (17 hr|45 sec |17 hr|25 sec {11 sec | 4 min {46 min|{ 13 sec |7 min
2 hr .

35 min 4 min (&Y min 15 min, 2% min 35 min

40 minjld sec | 7 hir | 36 sec{35 sec |36 min|R5 sec {35 min {35 sec |17 hr|l13 sec
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ANSWER THE TIME GUESTIONS AND LOCATE THE ANSWERD

o THE GRID, COLOUR THE RECIONS CONTAINING THE ANSWERS,

THE LETTERS INTHE REMAINING REGIONS SPELL OUT THE
. BUZZLE SOLUTIEN. A

FIND T¥E DIFFERENCE
BETWEEN THE TIMES
GIVEN

/8:15 pm and 11:34 pm )

N ),

/10:2‘?’ pm and 3:18 am\
the next day

\ J

Gamand’?pmthe \\
next day

@:46 am and 208 pm\

N J

@:30 am and 4:40 pin \

N\ J

2:18 am and 11:07 pm

(5:56 pm and 11:17 pm

/llamandQ:IGam \

- _J

/6_:30 am and 3:10 pm \

. _/
o

noon and 7:21 pm \

Shr lmin|6hr 15 min

21 hr 7 min | 15 hr 3 min

8 hr 29 min

10 hr 40 min {19 hir 58 min

T

20 hr 528 min

5 hr 41 min

N G

10 hr 10 min

S

4 hr 51 min |16 hr 5 min

15 hir | 19 hr 30 min {8 hr 18 min

T

O 1

5 hr 21 min

42 min

B

27 hr

4 min

7 hr 10 min

N

{© Longman Cheshire 1989 Permission is granted for ihis page to ba phatocopied for non-commerciaf classroom use.




156 ion object - find it!
P ’ '
FING THE IFFERENCE BETWEEN THE Tuo TENPERATURES g
GIVEN IN CELSIUS, IN EACK AECTAMGLE , LOCATE THE DoT
NEXT 70 EACH ANSWER, AND Jom THEM IN T OROER 5
GIVEM 11 EACH BLOCK OF RECTANMGLESTo DRAWTHE OBTECT | “7T
25°, B3° ~18°, 5 —2°, 7° 48", 7o
—-10° 10°
710! 540 ?80, 240 _300, _].80 _500’ loo
19°, —&° 15° —16° 5°, 48° 28, 8 81°, 46°
o7, 17:°
0°, 9% 49° 120° 9°, 93 140, 170 83°, 51°
52 e @
20
5 «26
e & a5
25
L] L)
31 88 oy
54 3 88 84 21 7
& & © @ B @ @ ® @ g8 e & @ @
15 36 18 75 17 97 55
80 14 73
80e a © ® Ge g ®2
13 30 ©16
20 10 38 a7 22
I3 FH5e & ® B & @ e @ & B @
28 09 12 8 49
19, 65
—1°, 4° 11°, 33° 177, 46° 13°, —4° 4y COLOUR
6°, ~10° THIS
26°, 87° o meo i . . REGION
37 H 86 _520, 150 66 ¥ _20 BLACK
87°, &° a o
901 llo ].2 ) 83 ___540’ __41?0 . j
45° 20° —15° 14° 21° 15
_150’ 300 5? ! 8? "360, 880 16 ’ 30 17?0, 900
a a 190 500 o] [a]
o _mo —-18° —28 ’ 41°, 31
1o, =7 A 43°, 79°
12° 31
32°, 27° 33°, —8&° —24° 41° —21°, 78° 9° —24°
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ANSWER THE QUESTIONS \

BELOW (AEGARDING $oe€D) [ 7

Y6 FIND THE PuzzLe

SOLUTION Copg,
How far will a car g0 at 4 m/s
80 kmv/h for 7 hours?
How far will

the skateboard
go in 21 sec?

How long will it take a
bird to fly 200 km, flying
at 40 km/h?

How long 70 m/min

will it take i

this swimmer et
m@@‘ﬁ%—-

to go 630 m¥?

How far will

1
: ol s
the jet go in 22 hr? gr

The dog runs at
20 m/s for 4B
gec. How far will
it have run?

A snail’s
pace is 3 m/h
How far will it travel in

a day?

How far will a boat moving
at 40 km/h go in 4B min?

=cn

A gricket ball
moving at

25 m/sec takes B sec to hit
a fenee, How far did it
travel?

A bee moving at 16 m/s
covers 118 m. How long
will this take? [

A pram was pushed at
2 km/h for 15 min.
How far did it go?

A shark

swimming
at 5 m/s covers 180 m in
what time?

(4

A street cileaner
e, sweeps gutiers

A bicycle moving
at 35 km/h travels
for 3 hours. How far
did it go?

at 8 m/min. How
long will it take to

A rocket travels at
150 m/s. How far

- will it move in one
minute?

cover 260 m?

CCGEL How far will
E=—"> 3 cloud move
in 30 minutes if it is
travelling at 80 m/min?

Water flows
down a creek
at a rate of
21 m/min.
How far will
a toy yacht go
in 10 min?

N

24 sec | @ min

2Q10m | Y8 m | 185m

15600 km

800m | 84 m

7s8eci2mintBO0Om|&2h

200 m {1500 m |84 m

420 km

Skmi{la5 miBh|72m

105 km | B4 m | 420 km

210 m |30 km 310111

9 min

24 gec |84 m | 30 km

(© Longman Cheshire 1989 Permission is granted for this page to be photocopled for non-commercial classtoom use.




Doctor, can you

help me out?

Calculate the perimeters of the 12 figures given (to 2 decirnal pla.ces) Join the dot
next to each figure to the dot next to its perimeter. Each line will pass through a
letter and number giving the puzzle answer code.

5m
® IOm

M‘Esm. .@1916111
# . e . @ 3833
660 m 7 m
+14m T D
@ - ' 8m
¢ ' @ 9 m
18m _
&
7me
15 m 2 864 m
/8 m ; @21111.

® 24 m 6
10 m H |
e 45 m
13 m 16 m

14 m
12 m

25 m 10m

:©
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Calculate the areas of the
rectangles given to find the
puzzle answer code.

48 km?[15 m®|48-4 km?|144 m® (143 mm?®

20-7 mm?9-8 km?

143 mm? | 26-46 m? | 98 kxm? | 16 m® | 2000 cm?| 1024 cm?® | 484 km® | 144 m*
207 mm? | 9-8 km?| 15 m?| 2000 cm? |15 m? | 30'1 km?| 15 m? | 70 mm? | 48 km®
9-8 km?| 4956 m?| 28 m?|735 cm®} 48 mm?®| 2000 cm?| 15 m?®| 2646 m*| 144 m*

5m B0 cm 8 km
S m.
6 km
40 cm
i o
11 mm
ﬂ 7 om
13 mm
T m 2-8 km
e 4 m 105 cm
f 35 km
12 mm i
4 mm 32 cm
84m
+ 7 km
58 m 2%
4-3 km
J
5 mm
12 cm
4-6 rim 28 m
88 km
30 em
4-5 mm
55 km
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ow wide is the
emmnce to the
anean Sea?

Find the areas of the figures given. The area and
letter inside each figure gives the puzzle code.

11m

i
[m

=
5
o
g
O
m
C 3

18 m

186 m

12 mt 1

. 10m

108m* [18m* |15 m® | B0m? | 105 m® | 18 m?® | 108 m?

683 m”® | 80 m*? 105 m® |77 m*{ 15 m®| 80 m®!120 m® |18 m3 |50 m? |18 m?

68 m*®| 60 m* |63 m* |30 m® |15 m?|18 m? {88 m?| 68 m?| 48 m?

50 m* 40 m”? 15 m? 83 m* 108 m* 108 m?”
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3
.

St Ty

CALLULATE THE AREAS OF

THE CIRCLES TO FIND THE CoDE, | |
ANSWERS T0 3 DECIMAL PLACES

-

314189 m*®

88247 m®

167-4158 m®

176715 m®

124-690 m®

72382 m® ‘ 08-520 m?

113097 m®

98-520 m®

78-540 m®

176715 m? \ 95033 m*®

08520 m®

95-033 m?

98-520 m?

36317 m*°

88247 m*°

v8-540 m°

314-189 m®

36-317 mm®

© Longman Cheshire 1889
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Find the total surface area (to 2 decimal places) of each
of the objects shown to find the puzzle answer code.

3l28m

O
[8)
g

12 m

11
qm.i
»
=

AT » 1l m

- 4 1m -

75398 m® | 263-89 mBT.ga(s-lg m®*[120 m*{208 m~|208 m?|126 m?|396 m®?|208 m®

208 m®|72 m®|226-19 m® 26389 m*?|753-98 m?|206 m®|120 m?

20-8 m®283-89 m®
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K

5 cm® = mim® 2am® = cm®
300 hectares = ®m®
4 000 000 m” = km?®
8000 mm*” = cm®
500 000 cm® = m
400 000 m”® = hectares
&
30 000 mm® = orm® ﬁn
2000 mm® = __ em®
6 000 000 m? =
500 hectares = km?
2 000 000 mm? = R
300 000 cm® = m?
4 mP = em?®
80 cm® = __ mm?*
[ 60 | 40000 | 2 | 6 | 20000 | 40 | BCO | 8000 | 300 30
30 500 40 000 20 4 20 000 500 40 000 8000
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What is

OPOCATEPETL?

CALCULATE THE
VOLUME OF TUE

A 3 m | G 8 m E
3 m ; 8m 2m
M 4m
3 I
12 m
|
T m
7 m O ¥ m P
4 m
Sm 15 m 9m
T 5m
8 m ,
& m ?'m
B80m® | 105 m® | 160 m® | 400 m® | 160 m® | 288 m® | 1050 m® | 252 m?® D
105 m? | 243 m® G 105 m® | 160 m® | 400 m® | 60 m® | 144 m® | 1080 m®
252m® | 60m° | 45 m® | 243 m° | 258 m°® | BO4 m® | 160 m® | 45 m®
K 243 m® | 252 m® | 144 m® | 160 m?® | 343 m® | 843 m® | 288 m® | 1050 m®
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g

e
gt

i}

JOI THE BOTS NEXT To THE EQUAL
VOLUMES ON BOTH 1084 OF THE PAGE.
EACH LINE WiLL PASS THROUGH A NUMBER
AMD LETTEA, GiviNG THE PuZ2LE ANSWER Cobt

80 000 mm® ®
2 000 000 cm® @ 5000 mm?
9
W
5 em® ® 200 cm?
&
4
OOO 5 60 3
6 000 cIm @ A. T cm
20 cm® ® E 5 20 000 mm?
1 7 _
5 000 000 cm® ® 6000 mm?>
| I, R
200 000 mm® & 500 cm3
8 5!
6 Gl’l'l5 ) 2 mS
I 6
500 000 mm?® ® 5 m
1|8 3 4 | 3] 4 1 21 B 67| 4 1 4 8 718
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rat's this?

Make x the subject of sach equation
given to find the puzzle answer code.

y=x+3 A
_x y =4
y"g B N
¥y = Bx C y=x—1
y=x-—4
D _x+7
yzX—l
3 E y=2x—~ 8 R
vy=Z+2
=% _3 S
y=x
v=6+x E T
< _Xx~ 1R
Y= L 4 U
=Y =7 _ ' =7
x=gy ~?|x=y+ 115 T2 4 T 5lx=ayr12)x=2y-7|x=y-6/¥"12
XEXX:X—Q
X=3y+ 1|E=8y+B|x=y—-6lx=y+4lx=y~-86 4 2 X = 2y
=7
X:3y+lx=5y+5x=y-6x—4Xzy+4x=y—3thyxz3y+l
=7
x=y-3"  Blx=6y+5|x=28y|x=y-3|x=08y|x=3y|x=y-35
x =9 |
E=y | x=0y — 12 | x = 4y + 128 4 |x=06y~-18 | x=8y+1|x=y
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Solve the simultanecus equations
using the substitution method.
The valuse of the letters gives the
puzzle answer code.
- B
40 — 88 = 24
) E=0—7
Qa +nmn =38
n=2a
\ - ~
e \ Bg + Bd = 39
5m — 1 = 23 a=3¢g—-3
i=2m — R '
o J
NS _/
r g B
_ \ bw —4n =06
¥+ 4% = 41 n = 3w — 10
r=2t — 13
\ VAN J
2 10 8 7 51 8 12 11
&6 8 10 1 S 2 i2 5
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Did you hear about

the sheepdog trials?

3,

Ee

Solve the sinultaneous equations
using the elimination method. The
value of the letters gives the puzzle code.

ZA + D = 36 5B + 2F — 58 G + VH = 25
28 —D=—1 3E — 2F = 22 -G — 2H = -20
4T ~ BL = 46 _2M + BN = 1 50 — 11R = 23
7L + 3L = 130 oM — 4N = 4 20 + 11R = 40
128 + 3T = 80 37 + 15W = 168 Y+ T =34
§ — 37 = —2] 2 — 15W =—165 | 2¥ ~T =8
S 5 10 11 g 3 4 9 O 5 15 5 S] 8

187 0 118! & 8 (14 | 7 5 | 158120 §F |10 & | 10| 8 | 20

18 8 8 20 1 & 10 | 10 | 12 g 5 8 1 3
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its driving test?

Ol
© |~
[T
ol
e o
©iw
|en

Q=

=320
O] =
-
s
e
NS

&

W b
2 | e
O
=
O]
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Determine the expected outcomes of the
following experiments. Each answer
will give part of the puzzle code.

48 rolls of a die. How many 3s? 26 draws with replacement from a

pack of cards. How many red
cards?

15 selections with replacement
from a bag containing 3 white and

2 red marbles. How many white

marbles?
e 4

In a class of 30 how many pass a

test if each has a probability of 0-9
of passing?

50 random selections of a number

from 1 to 10. How many prime
numbers?

78 selections from the letters in
the alphabet. How many vowels?

i

: E 93 peopnle were asked for their How many heads in 50 tosses of &
favourite day in January. How coin?
many days ending in a one?

P hd TR

S @gﬁd@.‘i‘m"""‘“'*"‘"‘“'

40 digite are selected at random.

99 numbers chosen randomly from
How many Bs?

10 to 20. How many odd numbers?

130 draws from a pack of cards.

34 rolls of a die. How many resulis
How many aces?

under 4%
8 13 8 25 8 25 8 10 12 27 25
4 25 17 15 20 ] 4 4 17 45
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